ﬂﬁn$vb
'l\i:ﬁEﬁCG/HGVU -X |

Toward the Next Generation Robot‘ Era

SKG fR& iBEH

Hi-Precision Reducer CG/HG-Series

Sldé»




&L &I

ORY MEICZAINZREBREAXOBERIGIINETICEERLWESZES. EXAORY MOMREEZZELLEA
EXETEELL

LHL. BLBOKRY MOEXICIIBEFOMEEZAZBAEBHHRAREEIBETT,

SKG DREZFIHARERIE. ChETORPIEESARXNZEICRRIE/NESHEESHIMEERLHERTT .

Wave gear type reducers, which are often used in robots, have made remarkable progress so far and have significantly
improved the performance of industrial robots.

However, further evolution of robots requires a speed reducer for precision control that greatly exceeds existing
performance.

SKG's precision control speed reducer is a new product that achieves compact size, high precision and high rigidity by
further developing the conventional wave gear method.




SKG iR #% D RIE

Principle of SKG Reducer

KREBHESXOHEROELIEES. RIE. FRIFSIFHEILINTETVET,

LHL. ZhHp500KRY MIEBRINBAEBRDOLANIVIBEICEEOITEY .. /EKBYOEDOTIXORY MEREDME EIC
RADVEUVET

SKG Z7 Ly I AF7ERNF 7 2 DR L/IRBORERRER SWG > —XZBICHFICHLTVWET,
HRFRDORBEETSH. SOICHREM LI LLBEBREH CG/HG > —XERMOVLETS.

AAEXTE. FTREZRRBLVOBICALEE. BICAEMEBEFEERNY TISACETHALEIETVET.

The history of strain wave gear reducers is long, and their principles and manufacturing methods are largely established.
However, the specifications required for future robots are becoming increasingly higher, and there is a limit to how much
robot performance can be improved with conventional methods.

SKG has already launched its own precision reducer, the SWG series, which separates the flex gear and output gear.

We offer the CG/HG series precision reducers that offer improved performance even with conventional strain wave gears.
This method improves gear accuracy even more than conventional products, and in particular improves angle transmission
accuracy and other aspects to the industry's top class.

SWG 2 —-X
INETORBEESRNBEBEREEZLDE. DR BEDT LY I AFTDH
REE MR EHNF 7EICHBELIZETT.

ZDZET. IehHEREERBOKRFREZRKICOZLEFBHS. BNLIHIED/N
FBETXEEEICRETEDLDICHYE L.

HABET LY 7 AFTORZRRUDSHEAZRIETA YA RARETLYIAFTD
HEBDSHNER)ET T IYA RARDHVET

SWG series Output Gear ~ Flex Gear Internal Gear

The major change to conventional strain wave gear

type reducers is that the function of the flexible flex

gear is separated into the reduction section and

the output gear section. Loy S T

This makes it possible to freely select the spring HAR : TLYIRAXTERNFTOEHE (YA RKAR)
. . . Output section: Movement of Flex gear and output gear (Inside Output Method)

thickness that supports high torque while

maximizing the fatigue limit of the deflection spring =902 =180 22708 .360°

gear part.

There are two types of output parts: an inside

method that takes the output from the inside

diameter side of the flex gear, and an outside

HHFF
Output Gear

FTHEHEEB
Gear meshing position

.

ey

NIV E—NET

=

method that takes the output from the outside ] D : ;Ké;l/.y77\¥;'®_§:% ; Internal Gear
diameter side of the flex gear. Reduction part: Movement of cam and flex gear

CG/HG V) —X

INETORBWEFRNFREICLENT, F7OUHEIAEERRLTNIEEZR L.
MEEEZ e EERSEOEREEREE MIBUIREICLELE,

FTO/HAEGERE. BRULABREISRENICH ELTOET, =

CG/HG series

Compared to conventional wave gear reducers, the gear cutting method has been improved, the
machining precision has been improved, and the tooth surface the roughness has been adjusted to
suit the simultaneous meshing of multiple teeth that is unique to strain wave gears.

This has resulted in a dramatic improvement in angle transmission accuracy and repeatable position

accuracy.
e 5 180° 270° 360°
& ™ b "-'H--_-- \x ._z--"_"'\-\.\ "-d--'_- TLYIRT oA
Fir . . Illf ‘-,II If Y ./ 3 IIF\exsphne
: :I- | \ I |I | | : _' )
T 4 N ! % ; % ! o
s
—_— \-__._«-’ \*»_d_»"’ \“H___«/ \M_H_J)@
BRI II—T - CIXL—RETLIRTSADOEE Circular Spiine

Reduction part: Movement of Wave Generator and Flexspline



E ;IA-' ‘ Index

"EBIIII:II:I 445 *;]; .............................................................................. 4

Parts name

I};EEJ:I: ................................................................................. 4

Reduction Ratio

lﬁﬁ%{i*%@ﬁgn .................................................................. 5-6

Terms of reducer specification

;}ﬁﬁ%ﬂﬁ ........................................................................... 7-10

Reducer Model

;ﬁﬁ%{i*ﬁ ........................................................................... 11-42

Reducer specification

ﬂﬁ&ﬁg@q’:mﬁ ..................................................................... 43

Model selection Flow

EMETE (T ANT I ) e 44

Life calculation (Flex bearing)

EMETE (JOAO—T—NFU ) e 45-46

Life calculation (Cross roller bearing)

Ajjiﬂigg)gq:gﬁi ............................................................... 47

Allowable load of input bearing

,F'z'ilﬁ"ﬁll ................................................................................. 48-50

Lubricant Information

Hﬂ.ﬁ-*ﬁ }E .............................................................................. 51

Installation accuracy

%—&E&ﬁjﬁ}% ..................................................................... 52

Motor installation procedure

{ié [ )[,7 .............................................................................. 53-54

Transmission torque

TER

Dimension table
CGAA i 55-59
CGUH v 60-64
CGG H ............................................................... 6 5 6 9
HGAA ............................................................... 70 75
HGUH ceoerererereerermimiminiiiiiiiiiiiiiia 76-81
HGS cvrvvvrrremrmeneeenenet ettt 82-87
HGUU srrerrrrerrrre e 88-93
HGSH crrerrrerereee 94-99



’EBE&&M‘ | Parts Name

Hy T8
Cup type X 4-1

227 ZAVA ]
Silk hat type F4-2

Y—%15 - 2T51Y

Circular spline

-

TLORTZ14Y

Flex spline ~—

0 A I | —

S o 5 5

Ji—7 - -JIxl—%&
Wave generator

Y—F15 - AT51>
Circular spline

TLORTZ1>

Flex spline T~

Ji—7 -Jixl—%&
Wave generator

ﬂﬁgtt | Reduction Ratio

ABEEH R EHARERS D&

Input rotation direction is opposite to output rotation direction  [X]4-3

ADEEGFmELAREAREDEL

The input rotation direction is the same as the output rotation direction [X]4-4

EE

mat=— =t

Reduction ratio

RIE. &R (P7) DR

R is the reduction ratio of the reducer specification (refer to P7)

Hh
Output

EE
Fixed

\ |

0 |

j—

1
WREE= ——
Reduction ratio R+1

R, R LR (P7) DR

R is the reduction ratio of the reducer specification (refer to P7)




Hﬁ;#ﬁﬁ:ﬁo)ﬁﬁ%ﬁ | Terms of reducer specification

BE® ML (K 5-1288) /Rated torque (See Figure 5-1) BRINLIINZ— ] X 5-1
ANEEERE D 2000/min DHBEDEREFBEFTMNL I TT, -

. . . . EERFOEHENM Y
Continuous allowable load torque when the input shaft rotation speedis | |
2000/min. i

. I
WEBFLBOHEL—s My (051 88) | a| [LE8 o f A
Allowable peak torque at start/stop (See Figure 5-1) )E / : fl | ¥y
EBHFLBCAEFRET X MKUER N IKUXESLHESDD | 7 ! [ - z=cle
VET., EREOEREEE—I M IERLET. : LARYE- HEIEAL
When starting and stopping, a load larger than the steady torque is ety ,'[, % f}’ ,'[,
applied due to the load inertia moment. The values in the rating table 7 7
show the allowable peak torque. BETAIN)

+

B ER NV DHEBRAE / Maximum allowable average load torque 514 \ f
BREMLY. ANWBGREREHDEETDHE. BRINLIOFESEEZKD S 5 f . |
BENHVET . ERROBITHIEH N OFBEERLET. & \ [
If the load torque and input rotation speed fluctuate, it is necessary to find ® } f

the average value of the load torque.
The value in the rating table shows the allowable value of the average
load torque.

WEFFARANLY (B 5-1 B88) / Instantaneous maximum allowable torque (See Figure 5-1)

BEEGROER ML Y. EBEFIERNL LN, FATERWVEEDIDDBIEDPBVET,

BEFSRAN IR ZOHFEREEZRLET.

In addition to the rated torque during normal operation and the torque during start/stop, an unexpected shock may be applied.
The maximum allowable instantaneous torque represents this allowable value.

BEAREANEGEE. FATHAHNEEGEE / Allowable maximum input speed, Allowable average input speed
HFARINBANEREGHRORSETFHIEEZRLET .

Indicates the maximum and average allowable input shaft speed.

WEHEE—X> b / Moment of inertia
EREQOII—T - D1 —28 (ANEHBEEE) OBYEE—Xb2XRLET.

Indicates the moment of inertia on the wave generator shaft (The motor axis conversion) of each model number.

BWAEGERE / Angle transmission accuracy .
ANBIABORGRELSA 5, BRobhnEErEesro AR ®5-2
HAOHEGAEOEEARGERELELTRLET.

When an arbitrary rotation angle is given to the input shaft, the difference
between the theoretical output shaft rotation angle and the actual output
shaft rotation angle is expressed as an angle transmission error.

AEGEREGEN %= 5-1
Oer AEmERE
01 ANEEEE )
- Ber=0,— —=
02 EKEOEHEEGEAEE R
R IR




Hﬁ;#ﬁﬁ:ﬁ@ﬁﬁ%ﬁ | Terms of reducer specification

BEXFVUIAORX (B 5-3&8) /Hysteresis loss (See Figure 5-3)
MLOZERZEA =%, NMLIERSL O ICLTHRULNAEIL O £T
RUEEA.

MLy aFEREAEICEZE. MLIZOICLTHERLNBEIL O IZRE
VEEA

ML O DEEDRUNABED G ZEAT ) AOAEFUVET,

Even if the torque is reduced to 0 after applying the torque to the rated
value, the twist angle will not return to O.

After applying torque in the reverse rotation direction, the twist angle
does not return to 0 even if the torque is set to 0.

The total twist angle when the torque is O is called hysteresis loss.

W& X/\Y U5 Y2 [ Maximum backlash amount
HEEEEEIY—F25 - ATSAVETVIRTSAUDPREONE
THEAEERICEMLTOSED. tOEEFRDONYISYIIRIEEA
EBEEA.

In the wave gear mechanism, the internal gear and the flex gear are in
contact with each other at the same time with a long diameter diagonal,
so there is almost no backlash of other gear systems.

WA (X 5-4 B88) /Rigidity (See Figure 5-4)

At (FREH) chlhBEE. ADRIZEELZEZICHEARAICMA
TEMLOICKYEEENET,

The rigidity and angle calculated by fixing the input and applying torque
at the output end.

WES ML / Starting torque

BERIRETADBICNLIZMA. BRELKBROZEZDMNLIEZES
MLoELETY. (BERE : 257C)

Under no load, rotate the input end and beasure the torque value when it
starts to rotate. (ambient temperature:25°C)

WiEER S ML 2 / Output starting torque
BEAABTHNIBMICMNLIZMA. BELROZEZDMNLIEZIER
ML IELET. (ABERE : 257)

Under no load, rotate the output end and measure the torque value when
it starts to rotate. (ambient temperature:25°C)

B> FxIv7+>% MLY% [ Ratcheting torque
BEPICBERNLIDDPDOEE, TLIRT SV EEHBET.
Y—F215 - ATSAVETVLIRT A4 OEOMEHAE VD ERBICT
NTLEDRBRZZFIVTATEVN. ZODEEDNVIEZFIVTA
IRV IELET,

When excessive torque is applied during operation, the meshing between
the circular spline and the flexspline teeth momentarily becomes
misaligned without damaging the flexspline, etc. This phenomenon is
called ratcheting, and the torque at this time is called the ratcheting
torque.

WM EE ML 2 [ Buckling torque

5-3
nUNAE
TS ___d_-'"'-:':;f
I"\w( -~
)
n
<
Al
77
/;” 0 N,
o
=
X5-4

HUNAE

Ki: ML BOD ST+ R TDIERTEE
Rigidity value torque O to T1

Ka: ML BT 5T E TOIEREHK
Rigidity value torque Tito T2

Ka: ML D TLLEDEIHDISREE
Rigidity value above T2

ANBWEEEL. HHBIOBELREREEDPIZR. TLIATIAVIZBEER L ZORICRELET,

TOEOMN I EERBMNIIELET.

When the input shaft is fixed and the output shaft is overloaded, the flex gear plastically deforms and then breaks.

The buckling torque is the torque at that time.



ﬂﬁgﬁﬁﬁﬁ ‘ Reducer Model

CG:hy7H
Cap type

— JLORTSARAT

Flex spline type
HG : Lo/ hEY

CG

Silk hat type
BE TR L
Number Reduction ratio
UH | — 32| — | 120 | —

Component type

— HEEAX —T— UH: 1Zvhia17
Combining method Unit type

— GH : 7522847
Flange type

BNtk BN 2
Add spec 1 Add spec 2

k| — | kK

— AA OVR—FUREAT e




Mﬁﬁﬁﬂiﬁ ‘ Reducer Model

BE IELL

Number Reduction rati

BhNfkR 1

Add spec 1

BnnftkR2

Add spec 2

CGAA - -

HEEAHX BE

Number

Combining method

R L

Reduction Ratio

AA = OV R—RE1T
AA = Component type

BE IR LE

Number Reduction rati

BN 1

Add spec 1

Ehnf#R2

Add spec 2

CGUH - -

HeeA BE

Number

Combining method

BELE

Reduction Ratio

UH = 3=yha(TF

UH = Unit type

BE IR

Number Reduction rati

E—-2BK

Motor type

E—-REE

Motor shaft diameter

CGGH - -

HEEAHX B

Number

Combining method

R L

Reduction Ratio

bW 1t
Add Spec

B = 2%
Add Spec: No mark =
Standard product

bEY) 1 {3
Add Spec

BINTERERE = 5%
Add Spec: No mark =
Standard product

T4
Motor Type

Motor shaft diameter

GH =25 3447
GH = Flange type

040
17 50 80 100 120 - 040 08
20 50 80 100 120 160 040, 060 08, 011, 014
25 50 80 100 120 160 60 014
32 50 80 100 120 160 060, CI80 014, 019




ﬂﬁgﬁﬁﬁﬁ ‘ Reducer Model

— VIR T A BAT
Flex spline type

T

Number

CG:hy7H
Cap type

HG : )L/ B

HG

UH | — | 32

— MHEEAN —

Combining method

— AA:

— UH:

— SO

— UJ

— SH

Silk hat type

R EE BNk BNtk 2

Reduction ratio Add spec 1 Add spec 2

120 — | %%k | — | k%

VAR INEAT oo

Component type

AZYNEAT ==
Unit type

 BREAT (FANELHYTIVT) ———-
Simple type (Oldham coupling)

L o

Input shaft type

 BAAAT (PW) e

Simple type (Hollow shaft)




Reducer Model

BE IEELL

Number Reduction rati

Btk 1

Add spec 1

ENfER2

Add spec 2

HGAA - - -

MMEEAX

Combining method

TR EE

Reduction Ratio

AA = aVIR—RULE2AT

AA = Component type

BE IELL

Number Reduction rati

Bh0fER 1

Add spec 1

B a2

Add spec 2

HGUH - - -

HEtEAX R

Combining method Number

SRR L

Reduction Ratio

UH=a3=yk&1F

UH = Unit type

BE RIELL

Number Reduction rati

Bh0fER 1

Add spec 1

BhnftHR2

Add spec 2

HGSO - - -

MHMEEAX

Combining method

TR L

Reduction Ratio

SO = fZEAT
(WA LFyTIT)

SO = Simple type
(Oldham coupling)

BE IELL

Number Reduction rati

Bh0fRR 1

Add spec 1

BhNfHR2

Add spec 2

HGUJ - - -

HMEEAX R

Combining method Number

AR L

Reduction Ratio

UJ = AhsiftEa2,4T

UJ = Input shaft type

BE RIELL

Number Reduction rati

EhNftER 1

Add spec 1

BhnftiR2

Add spec 2

HGSH - - -

MEEAX

Combining method

TR EE

Reduction Ratio

SH= iS5 7
(chZ2i)

SH = Simple type

(Hollow shaft)

B nfEAR

Add Spec

BN HRIEEE = IREML
Add Spec: No mark =
Standard product

B n{EAR

Add Spec

EBMNfEHRERCE =
Add Spec: No mark
Standard product

Add Spec

BN HREERCE =
Add Spec: No mark
Standard product

Add Spec

BRI E =
Add Spec: No mark
Standard product

Bt

Add Spec

BN HREERCE =
Add Spec: No mark
Standard product

10



Hﬁ;#ﬁﬁzﬁ ‘ Reducer Specifications

aAVvR—3Rx2 24T

cGAA Component Type

CGAA Y —=ADAYVR—X U NEATIE. 722/23DDERN—Y THERENTVET,
WP EEICEREATIZZENTE, ZtOBHEIPHLELEFT.

CGAA component type is composed of only three basic parts. It can be directly assembled to
machinery and devices to improve the freedom of design.

BE BELEE Btk 1 EhnftiR2
Number Reduction ratio Add spec 1 Add spec 2

CGAA - - - -

TR ME(LHR / Reducer Specificatioins

GaEr  2000/minBEO) EEE)-FALEO  FHEEFHLY
‘ EHIILY BB OFBERKIE

BE A

nE BARLY E#5%

HERBAN

HETHAR
R

EEE—AVE

Batsdpcione (it o [Repreeriae] | (Liveid e (Avoress MomLeerti:r];OL’eak A”;)r:’:)aukilf?z’;/lt?t(iicr:lum Aliz:::ﬂ;o/t\:tei:\ge Moment of Inertia
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm Nm r/min r/min Ix10kg=m? Jx10°%kgf*ms?
14 80 10 30 14 61 8500 3500 0.033 0.034
100 10 36 14 70
50 21 44 34 91
17 80 29 %6 35 113 7300 3500 0.079 0.081
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.193 0.197
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 0.413 0.421
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 1.69 1.72
120 178 459 281 892
160 178 484 281 892

11




ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ #FMTERI / Technical date

- AE{ERSE /Angle transmission accuracy
R Lt Reduction ratio $1fl: uni

S Lt For all reduction ratio arc—min

-EXFUIROXR/Hysteresis loss
5@2;@]:[’. Reduction ratio i{f]_ unit
50 arc—min

8oLl E arc—min

R RK/I\vOSvIa18/Maximum backlash amount
JEE EE Reduction ratio B 3T unit

50 arc—sec

80 arc—sec

arc—sec

arc—sec

arc—sec

-FIE (FREE) /Spring constant
JBE Lt Reduction ratio BA{ST unit 145y 178y 20%! 25%1 327
T Nm 20 39 7.0 14 29
T Nm 6.9 12 25 48 108
X10*Nm/rad 0.34 0.81 1.3 25 54
X10*Nm/rad 0.47 1.1 138 34 7.8
X10*Nm/rad 0.57 13 23 44 9.8
arc—min 2.0 1.7 1.8 1.9 1.9
arc—min 5.6 4.2 5.3 5.4 5.4
X10*Nm/rad 0.47 1 1.6 3.1 6.7
S X10*Nm/rad 0.61 1.4 25 5.0 1
80 X10*Nm/rad 0.71 1.6 29 5.7 12
=t arc—min 14 13 15 15 15
arc—min 4.2 3.3 3.9 3.8 4.0

-#2Eh~JLo/Starting torque
5@%]:'3 Reduction ratio %ﬁi_ unit
50 cNm
80 cNm

cNm

cNm

cNm

JBE EE Reduction ratio
50
80

;'}iiitl: Reduction ratio $1E_L unit
50
80

-FEfE V2 /Buckling torque
JIE L Reduction ratio EE-L unit
£ FE EE For all reduction ratio Nm

12



ﬂigﬁﬁﬁ:*i ‘ Reducer Specitications
CGAA .

NA2E / Dimensions

ZDOHEBED CAD 7—2& (DXF) (FR—LNX—=2 KA O0—RTEEY . URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

B
Cl c?
E F W JS9
D i L-¢M
+ 071
b N A
— | A D
50 5
! H {E]_ dJ[o
o ] © :
24 T 2 f OIS -
Sy ] |
,H, N - )
\ _\ o
I\ 'jEr AN _
= UA
(@)
. e s
I3 .
-~ |
H1 8.

13



Hﬁﬁﬁfﬂi ‘ Reducer Specitications

@ ~1;%3% / Dimensions Table

[mm]
1474 1734 20%! 253 328!
50 60 70 85 110
28.5_04 32.5_04 33.5_04 37 0. 44 36
17.5 *04 2079 21.5%0-6 24196 28106
11 12.5 12 13 16
2.4 3 3.2
2.5 3
6.5 7.5 10 14
1.4 1.6 1.5 3.5 4.2
18.5 20.7 21.5 21.6 23.6
38 48 54 67 90
23 27.2 32 40 52
11 10 16 20 26
8 16 16 16 16
3.5 3.5 3.5 4.5 5.5
M3 M3 M3 M4 M5
M3 M3 M3 M4 M5
6 6.5 4 6 7
- - 3.5 4.5 5.5
44 54 62 75 100
R 6 6 8 8 8
¢S 4.5 5.5 5.5 6.6 9
T1(PCD) 17 19 24 30 40
T2(PCD) 18.5 21.5 27 34 45
U1 14 18 21 26 26
1k 8 9 11 14
RATi& 10 13 15 15
WIRE) - - 3 4 5
X - - 10.4791 12.8%91 16.3791
$z1 0.25 0.20 0.25 0.25 0.25
0.25 0.25 0.25 0.3 0.5
e 2.5 3 - - -
f M3x4 M3x6 - - -
B2 (kg] 0.09 0.15 0.28 0.42 0.89

14



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

cG““ A=y haq4F
Unit Type

—ffEEheo0AO0—5—A"F7U2JIcKY) . HAmEMLIERITFMLIICTRAD ZED
T&ZEY., CGUH YV—XD71—7 - Dz —REANELHYTIJ T, WK
LAY TV TRERERESEFT LY MTRET. HMHXPRREDEWEAL THEEICTHA
BIENTEET.

Integrated cross roller bearing, the output end can bear torque and bending torque. CGUH series
wave generators are Oldham couplings. Oldham couplings can provide large concentricity offset,
and machinery and reducers can wished low assembly accuracy.

BE BELEE Btk 1 EhnftiR2
Number Reduction ratio Add spec 1 Add spec 2

CGUH - - - -

TR E(LHR / Reducer Specificatioins

2000r/minff D ERE-EFILEED  FHARFIYI  BEHFER  HFERReEAN HETEHAS

= BB TaiEis BB ORSBRKAE BAMLY  EEH 4 w i e
Batsdplcione (it 7 [Repreeiies] | (L ey (Averme Moml_ejrr:]ti:r;m};’eak A”;)r:l;ilzl;mziig\um AI;::ji?l;o?:‘cei;ange Moment of Inertia
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm r/min r/min Ix10*kg=m? Jx10°kgf = ms?
14 80 10 30 14 58 8500 3500 0.033 0.034
100 10 36 14 58
50 21 44 34 91
17 80 29 56 35 109 7300 3500 0.079 0.081
100 31 70 51 109
120 31 70 51 109
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.193 0.197
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 0.413 0.421
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 1.69 1.72
120 178 459 281 842
160 178 484 281 842

15



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ &Rl / Technical date

-AE{ERE /Angle transmission accuracy
Lt Reduction ratio $1fl: uni

S Lt For all reduction ratio arc—min

-EXFIJIROXR/Hysteresis loss
5@5@]:[3 Reduction ratio i{f]_ unit
50 arc—min

8oLl E arc—min

R K/I\voSvIa18/Maximum backlash amount
JBE EE Reduction ratio B 3T unit

arc—sec

arc—sec

arc—sec

arc—sec

arc—sec

1484 1784 20%! 2581 321
T 20 39 7.0 14 29
T. 6.9 12 25 48 108
X10*Nm/rad 0.34 0.81 1.3 25 5.4
X10*Nm/rad 0.47 1.1 1.8 34 7.8
X10*Nm/rad 0.57 13 2.3 44 9.8
arc—min 2.0 1.7 1.8 1.9 1.9
arc—min 5.6 4.2 5.3 5.4 5.4
X10*Nm/rad 0.47 1 16 3.1 6.7
BR L X10*Nm/rad 0.61 1.4 2.5 5.0 11
80 X10*Nm/rad 0.71 1.6 2.9 5.7 12
=k arc—min 1.4 13 15 15 15
arc—min 4.2 3.3 3.9 3.8 4.0

-#2Eh~JVo/Starting torque
;jﬁiztt Reduction ratio Eﬁ[ unit
50 cNm
80 cNm

cNm

cNm

cNm

JE EE Reduction ratio
50
80

5}&53]:[: Reduction ratio $1E_L unit
50
80

‘FEfEJLU2 /Buckling torque

Lt Reduction ratio iﬁl unit

£ FE EE For all reduction ratio Nm

16



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

CGUH

NF2[X] / Dimensions

ZOHEGD CAD 7—2& (DXF) FR—LXR=KYH7>O0—-RT&EFY . URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

B
C
E F
H W JSS
L f-g c-¢d
—
__é_\@)\
_ 7 3
; % )
. Ny )
&@xzmit,>£< )_G)}I,>
s o & | ® | | © |
< == © '
— & 7
\ 5
B G,
S S NN
M1
r N 8.,
\
B
C D
E F G
20148 30178 H a
—
2-M3X4 (1439 —
2-M3X6 (1 739 J—_1
=
=
]

|
I
|
|
==
0hY
=
de
oT h7

17



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

[mm]
1434 1784 208 2584 328
73 79 93 107 138
41 9o 45 90 45.5_9, 52_%0 6291
34 37 38 46 57
704 8_0.4 7504 605 506
27 29 28 36 45
8 10 10 12
3 3 3
3.5 4 5 5 5
0.5 0.5 0.5 0.5
9.4 9.5 9 12 15
18.5 20.7 21.5 21.6 23.6
56 63 72 86 113
56 62 70 85 112
42.5 49.5 58 73 9%
11 10 14 20 26
8 7 10 15 20
38 48 56 67 90
6 8 12 14 14
- - 13.811 16.3791 16.3%31
- - 4 5 5
23 27 32 42 55
6 6 8 8 8
M4x8 M5x10 M6x9 M8x12 M10x15
1 1 1.5 1.5 1.5
65 71 82 9 125
8 8 8 10 12
4.5 4.5 5.5 5.5 6.6
38 45 53 66 86
8 8 8 10 12
M4 M4 M5 M5 M6
31 38 45 58 78
10 10.5 15.5 20 27
21.4 23.5 23 29 37
1.1 0.8 1 1.4 1.4
14 18 21 26 26
0.52 0.68 0.98 1.5 3.2

18



Hﬁ;#ﬁﬁzﬁ ‘ Reducer Specifications

cGG“ IS50CRAL4T
Flange Type

BEDOHNT 7221370 A0—F5 =7V IHEHAENTEY .. HEBOZ DTV
7] #AEA. BIFE—XNMIWMABDIENTEET. CGGH > —XIClE. E—XAD
BN Z2BBICT2E—RBMANY TV IPEENTVET.

The output flange of the reducer is integrated with crossed roller bearing, which can withstand
external radial force, axial force and bending moment. The CGGH series includes a coupling for
the motor shaft to facilitate installation with the motor.

BE BELEE E—485 T—2EE
Number Reduction ratio Motor type Motor shaft diameter

CGGH - - — -

TR E(LHR / Reducer Specificatioins

; = ST 1) € 72 = RE Sp ot srmsE = SRS -
Rt TereHe (it i [Repreeiies] | (L ey (Averme Moml;irr:]ti:r;m};’eak A”;):;il:l;mxig.um AI;Z::i?l;o?:tei;ange Moment of Inertia
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm r/min r/min Ix10*kg=m?* Jx10°kgf = ms?
14 80 10 30 14 61 8500 3500 0.033 0.034
100 10 36 14 70
50 21 44 34 91
17 80 29 % 35 113 7300 3500 0.079 0.081
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.193 0.197
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 0.413 0.421
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 1.69 1.72
120 178 459 281 892
160 178 484 281 892

19



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ &Rl / Technical date

-AE{ERSE /Angle transmission accuracy
Lt Reduction ratio $1fl: uni

S Lt For all reduction ratio arc—min

-EXFUIZROXR/Hysteresis loss
5@5@]:[3 Reduction ratio i{f]_ unit
50 arc—min

8oLl E arc—min

‘R RK/I\voSvIa18/Maximum backlash amount
JEE EE Reduction ratio BT unit

50 arc—sec

80 arc—sec

arc—sec

arc—sec

arc—sec

pring constant

- FIE (I ERE#) /S

JBE EE Reduction ratio 145y 178y 20%! 25%1 327
T 2.0 3.9 7.0 14 29

T. 6.9 12 25 48 108
X10*Nm/rad 0.34 0.81 1.3 25 5.4

X10*Nm/rad 0.47 1.1 18 34 7.8

X10*Nm/rad 0.57 1.3 23 4.4 9.8

arc—min 2.0 1.7 1.8 1.9 1.9

arc—min 5.6 4.2 53 54 5.4

X10*Nm/rad 0.47 1 16 3.1 6.7
BE L X10*Nm/rad 0.61 1.4 2.5 5.0 11
80 X10*Nm/rad 0.71 1.6 2.9 5.7 12
=t arc—min 1.4 13 15 15 15
arc—min 4.2 3.3 3.9 3.8 4.0

-#28h~JLo/Starting torque
5}&53]:[3 Reduction ratio Eﬁ[ unit
50 cNm
80 cNm

cNm

cNm

cNm

JE EE Reduction ratio
50
80

5}&53]:[: Reduction ratio $1E_L unit
50
80

‘FEfE~JLU2 /Buckling torque

Lt Reduction ratio iﬁl unit

é,]ﬁ;i]:l: For all reduction ratio Nm




A3

B3
B4

CH

D4-¢D5

ZOEMD CAD 7—4% (DXF) lFHR—LNR=2K)A7>A—RTELT. URL : https://SKG2016.com

The CAD data(DXF) for this product can be downloaded from our website.

NF2[X] / Dimensions

(/2]
c
]
5
©
(&)
E
(&)
(4}
[« 3
(/7]
£
(]
(3]
=]
T
()
o«
e
&
e

CGGH

D1-9¢DP?

N
&

21



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

[mm]
1474 1784 20%! 25% 328
8 8 14 14 14
M4x0.7P M4x0.7P M4x0.7P M4x0.7P M4x0.7P
4 4 2 4 6
23.5 23.5 34 34 37.5
46 65 70 70 70
M4 M4 M4 M5 M5
63.55 66.25 76.5 88 111.5
36.55 37.25 48.5 52 66.5
27 29 28 36 45
3.5 4 5 5 5
73 79 93 107 138
30 30 30, 40, 50 50 50, 70, 80
56 63 72 86 113
11 10 14 20 26
9.4 9.5 9 12 15
6 6 8 8 8
M4 M5 M6 M8 M10
23 27 32 42 55
8 8 8 10 12
M4 M4 M5 M5 M6
65 71 82 96 125
B =[kg] 0.78 0.98 1.85 2.52 5.32

22



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

“G hZEANEaR—R 24T
Component Type with Hollow Input Shaft

HGAA ) —XDAVR—22 MNBA T & 7=27 3 DDN—Y THERENTVET, HHPE
BICEEREAGIZIENTE, REFOBHEPMLELET,

HGAA series component type is composed of only three basic parts. It can be directly assembled
to machinery and devices to improve the freedom of design.

BE BEEE Bk 1 EMNfttR2
Number Reduction ratio Add spec 1 Add spec 2

HGAA - - - -

TR E(LHR / Reducer Specificatioins

REEEE| TETRE i e (Repreeiiad] | (LW i Averess MomLeithiz:r;o;eak A";)r:;i?;m::iiz\um AI;::SEI;o{c\Zteicr)ange Moment of Inertia
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm Nm r/min r/min Ix10™*kg=m* Jx107°kgf-ms?
14 80 10 30 14 61 8500 3500 0.033 0.034
100 10 36 14 70
50 21 44 34 91
17 80 29 36 35 113 7300 3500 0.079 0.081
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.193 0.197
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 0.413 0.421
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3000 1.69 1.72
120 178 459 281 892
160 178 484 281 892
50 178 523 255 892
80 268 675 369 1270
40 100 345 738 484 1400 4000 3000 4.50 4.59
120 382 802 586 1530
160 382 841 586 1530

23



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ F4fiE&EFRl / Technical date

-AE{mERE/Angle transmission accuracy
Lt Reduction ratio ﬁﬁ[ unit
éﬂﬁﬁﬂ: For all reduction ratio arc—min

-EXF1)XAOX/Hysteresis loss

JHIE EE Reduction ratio
50
80LL E

ﬁ{l‘[ unit
arc—min

arc—min

BX/I\vUSvIa18/Maximum backlash amount
ﬂﬁgﬂﬁ Reduction ratio ﬁﬁ"{_ unit

arc—sec

arc—sec

arc—sec

arc—sec

arc—sec

1484 178 20%Y 25%Y 3284 40%Y

T 2.0 3.9 7.0 14 29 54

T 6.9 12 25 48 108 196
X10*Nm/rad 0.34 0.81 1.3 25 54 10

. X10*Nm/rad 0.47 1.1 1.8 3.4 7.8 14
ﬂi’t%tb X10*Nm/rad 0.6 1.3 2.3 4.4 9.8 18
arc—min 2.0 1.7 1.8 1.9 1.9 1.8

arc—min 5.6 4.2 5.3 5.4 5.4 5.3

X10*Nm/rad 0.47 1 1.6 3.1 6.7 13

B L X10*Nm/rad 0.61 1.4 2.5 5 11 20
80 X10*Nm/rad 0.7 1.6 2.9 5.7 12.0 23
Mk arc—min 1.4 1.3 1.5 1.5 1.5 1.4
arc—min 4.2 3.3 3.9 3.8 4.0 3.8

-#ZE~JL D /Starting torque
5@%]:[3 Reduction ratio E{ﬁ unit
50 cNm
80 cNm

cNm

cNm

cNm

JHE EE Reduction ratio
50
80

5@%]:[: Reduction ratio i‘fﬁ unit
50
80

-EEfE~JLV2 /Buckling torque

LE Reduction ratio

£ BZE L For all reduction ratio

24



ﬂigﬁﬁﬁ:*i ‘ Reducer Specifications

HGAA

NH2E / Dimensions

ZDOHEAED CAD 7—2& (DXF) [FR—LNRX—=2 KA O0—-RTEEY .. URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

B
Cl ce
D
E | F W JST7.2
—
== 0- : _
N\ oo
/ fo >
0| | W (_Lo I \
<l = < — i
I s IS s YDA
— — ¢ S| < \ T f
< < S AS ] \ \ //
\/ N N 2 //
2 3 7 N _ %3
HE] o A\Z\ = %
% G \S I R-¢S
\ N 4022
¥
0
H-B.,
2.5(14%3H 30173

25



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

oul
12K
=ATE

WJs9

X
OY4
Dz,
B (kg

()Y

[mm]
1434 178 208 2584 328 40%Y
50 60 70 85 110 135
285 34 32594 33.5_04 37_8s 44 36 53 86
17.5 *94 20495 21.5%90 247%06 28796 34706
11 12.5 12 13 16 19
2.4 3 3.3 3.6 4
2.5 3 3
6.5 7.5 10 14 17
1.4 1.6 1.5 3.5 4.2 5.6
18.5 20.7 215 21.6 23.6 29.7
60 72 82 104 134 164
48 60 70 88 114 140
38 48 54 67 90 110
8 12 12 12 12 12
3.5 3.4 3.5 4.5 5.5 6.6
M3 M3 M3 M4 M5 M6
6 6.5 4 6 7 9
- - 3.5 4.5 5.5 6.6
44 54 62 75 100 120
8 16 16 16 16 16
3.5 3.5 3.5 4.5 5.5 6.6
54 66 76 96 124 152
14 18 21 26 26 32
8 9 11 14 14
10 13 15 15 20
- - 3 4 5 5
- - 10.4131 12.8%31 16.3791 16.371
0.25 0.20 0.25 0.25 0.25 0.3
0.25 0.25 0.25 0.25 0.25 0.3
0.11 0.18 0.31 0.48 0.97 1.87

26



Hﬁ;#ﬁﬁzﬁ ‘ Reducer Specifications

"G“ hZE#I=y b2 AT
Unit Type with Hollow Shaft

HGUH BHZEABEZHRALTEY . BEPOOFEBEICE—X2ROEDIELEE
CEMZERETHIENTE. RELAT7IPO/NERLICEBMLET ., BERIEETERDN—D
THAUIE S TOWET ., 7AYMAN-EVTHAN-EEAESS Y I R—ILEO VT T
D=IENTVWET . ZOBERIIBNZBNBLENRDPHIET .

HGUH adopts a hollow hole structure, which can arrange pipes and wiring in the hollow structure
of the rotation center without biasing the motor, which contributes to the miniaturization of the

device layout. The configuration has front and rear cover design. Both front and rear covers are
sealed with shaft seals and O-rings. This reducer has a good leak proof effect.

BE BELL Bk 1 EmnftiR2
Number Reduction ratio Add spec 1 Add spec 2

HGUH -— - - —

TR BE(EER / Reducer Specificatioins

RG] T i i [Repraiied] | (Ll e Averee MomLej:ti:rfyo;eak A";’::)il:l;mz:iig\um AI;::SSI:!oé;lE;ange Moment of Inertia
REdNCtionIRAtD at 2000rpm Peak Torque Torque A Speed Speed
Nm Nm Nm Nm r/min r/min Ix10*kg=m* Jx107°kgf-ms?
14 80 10 30 14 61 8500 3500 0.091 0.093
100 10 36 14 70
50 21 44 34 91
17 80 29 %6 el 113 7300 3500 0.193 0.197
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.404 0.412
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 1.07 1.09
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 2.85 291
120 178 459 281 892
160 178 484 281 892
50 178 523 255 892
80 268 675 369 1270
40 100 345 738 484 1400 4000 3000 9.28 9.47
120 382 802 586 1530
160 382 841 586 1530
[y

27



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ #4fi&EFRl / Technical date

-AE{mERE/Angle transmission accuracy
Lt Reduction ratio ﬁﬁ[ unit
éﬂﬁﬁﬂ: For all reduction ratio arc—min

-EXFUIROR/Hysteresis loss
ﬂﬁgﬂﬁ Reduction ratio ﬁﬁ"{_ unit
50 arc—min

8oLl E arc—min

BX/I\vUSvIa18/Maximum backlash amount
ﬂﬁgﬂﬁ Reduction ratio ﬁﬁ"{_ unit

50 arc—sec

80 arc—sec

arc—sec

arc—sec

arc—sec

-BUE (F1REE) /Spring constant
JBSE L Reduction ratio 1454 1784 20%Y 25%Y 32%Y 40%Y

T 20 3.9 7.0 14 29 54

T. 6.9 12 25 48 108 196
X10*Nm/rad 0.34 0.81 1.3 25 5.4 10

X10*Nm/rad 0.47 1.1 1.8 3.4 7.8 14

X10*Nm/rad 0.57 1.3 23 44 9.8 18

arc—min 20 1.7 1.8 1.9 1.9 1.8

arc—min 5.6 4.2 53 54 54 5.3

X10*Nm/rad 0.47 1.0 1.6 3.1 6.7 13

SEE L X10*Nm/rad 0.61 14 25 5.0 11 20
80 X10*Nm/rad 0.71 1.6 29 5.7 12 23
Mk arc—min 1.40 13 15 15 15 14
arc—min 4.20 33 3.9 3.8 40 3.8

-#cE~JL o /Starting torque
5@%]:[3 Reduction ratio E{ﬁ unit
50 cNm
80 cNm

cNm

cNm

cNm

JHE EE Reduction ratio
50
80

7’@52]:[: Reduction ratio i‘fﬁ unit
50
80

-EEfE~JLV2 /Buckling torque

LE Reduction ratio

£ BZE L For all reduction ratio




Hﬁﬁﬁfﬂi ‘ Reducer Specifications

HGUH ,

NF2[X] / Dimensions

ZOHEGED CAD 7—2& (DXF) EAR—LX=KYH7>O0—-RT&EFY . URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

G
H | J
M N
L
T-0¢U |
=
Ba
]Vﬁ:'—-_
D=t =l = I N N I B P
3 8% sps| °| s
JA'KG:F'—’
X n
=
| 2B BBISER-M3X5
Pl 2O | GEISER-M3X6
e
; | -4
SR SRt
> i I I e B R T o ,71
s N } T
] W JZQK | >
T B

¥
— !
N —
p
-
R

29



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

[mm]
14%! 178! 202 2534 3284 40%!
70 80 90 110 142 170
54 64 75 90 115 140
36 45 50 60 85 100
74 84 95 115 147 175
20 25 30 38 45 59
14 19 21 29 36 46
52.5 56.5 51.5 55.5 65.5 79
12 12 5 6 7 8
20.5 23 25 26 32 38
20 21.5 21.5 23.5 26.5 33
6.5 6.5 - - - -
10 10.5 10.5 12 14
8.5 9 8.5 9.5 13.0
7.5 8.5 7 6 5 7
(2.5) (2.5) 25.5 33.5 40.5 52
3 3 6 6 6 6
M3 M3 M3X6 M3X6 M3X6 M4X8
64 74 84 102 132 158
8 12 12 12 12 12
3.5 3.5 3.5 4.5 5.5 6.6
44 54 62 77 100 122
1248 81E AV ZE R | 2018 th 1618 AN e 16 16 16 16
M3X5 M3X6 M3X6 M4X7 M5X8 M6X10
$3.5X11.5 $3.5X12 $3.5X13.5 $4.5X15.5 $5.5X20.5 $6.6X25
36 45 - - - -
B =[kg] 0.71 1.00 1.38 2.10 4.50 7.70

30



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

"Gs FNELAY TV TOERE AT
Simple Type with Oldham Coupling

HGSO U—XD71—7 - 1L —REFNELHYTIVTTY,

AWELHY T TERERBGEA 7Y M FIRET. B B EEDE AL TS
EBICRABZEDNTEEY ., ZOREHIEKY . BEERDPEMCREICERMEAFITEIED
BRERY. RETOBHEDHMELET .

HGSO series wave generator are Oldham couplings. Oldham coupling can provide large
concentricityoffset, and machinery and reducers can withstand low assembly accuracy. This
design facilitates customers to assemble directly to machinery and devices, and improves the
freedom of design.

BE BELEE IR 1 EhnftiR2
Number Reduction ratio Add spec 1 Add spec 2

HGSO - - - -

TR E(LHR / Reducer Specificatioins

2000r/minff 0D ERE)-FILEFOD  FIGEFHERLY BEEE HERaAN HFETHAN

& BREL  Thmius BB OREBRAE BAMLY  EEH R R
Rated Toraue  Limit for Repeated  Limit for Average o R0 (20, AIRRelE et ALoiebs Fecese Moment of Inertia
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm Nm r/min r/min Ix107*kg*m? Jx107°kgf*ms?
14 80 10 30 14 61 8500 3500 0.091 0.093
100 10 36 14 70
50 21 44 34 91
17 80 2 56 35 113 7300 3500 0.193 0.197
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.404 0.412
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 1.07 1.09
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 2.85 291
120 178 459 281 892
160 178 484 281 892
50 178 523 255 892
80 268 675 369 1270
40 100 345 738 484 1400 4000 3000 9.28 9.47
120 382 802 586 1530
160 382 841 586 1530

a

31



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications
@ F:ili&# / Technical date

-AEmERE/Angle transmission accuracy
i Lb Reduction ratio B3] unit

%ﬁﬁtb For all reduction ratio arc—min

X7 RXOX/Hysteresis loss
;@ZJEHZ Reduction ratio ﬂﬁ"[_ unit
50 arc—min

8oLl E arc—min

BX/I\vISva1&/Maximum backlash amount
JBIE L Reduction ratio B3] unit

50 arc—sec

80 arc—sec

arc—sec

arc—sec

arc—sec

Bl (IF1EE) /Spring constant
JBIE L Reduction ratio 148! 178 20%! 25%1 3281 40%!
T1 2.0 3.9 7.0 14 29 54

T2 6.9 12 25 48 108 196
X10*Nm/rad 0.34 0.81 1.3 2.5 54 10

X10*Nm/rad 0.47 1.1 1.8 34 7.8 14

X10*Nm/rad 0.57 1.3 23 44 9.8 18

arc—min 20 1.7 1.8 1.9 1.9 1.8

arc—min 5.6 42 5.3 5.4 54 5.3

X10*Nm/rad 0.47 1.0 1.6 3.1 6.7 13

X10*Nm/rad 0.61 1.4 25 5.0 11 20

80LLE X10*Nm/rad 0.71 1.6 2.9 5.7 12 23
arc—min 14 1.3 1.5 15 1.5 1.4

arc—min 42 3.3 3.9 3.8 40 3.8

50

80

‘EERE V2 /Buckling torque
iztt Reduction ratio iﬁ‘[ unit
ﬁﬁth For all reduction ratio Nm

32



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

HGSO

NH2E / Dimensions

ZOHEGED CAD 7—2& (DXF) EAR—LX=KYH7>O0—-RT&EFY . URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

D
E F
G | H o
~1ll — J
X1-X2 (Y1)
& | ovo WJss
71-72
- = B
O — \\
i \ @ / ‘
—| cu -
<C
2| 3 = \ IR
S %
\ . s —
. | 2B EILERR 2018 | 61N
E-giiizi M3X5 (¢3. 5X8) M3X6 (¢3.5X6.5)
= 2 400,25 4] 00,25

33



Hﬁ;#ﬁﬁzﬁ ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

25

®Ah6

®B1

®B2

®B3
AT %
BT

oC

X1
X2
Y1
Y2
Z1
72
B & kgl

[mm]
1484 178 208 2584 328 40%!
50 60 70 85 110 135
14 18 21 26 26 32
6 8 9 11 14 14
8 10 13 15 15 20
28.5_0 4 3250, 33.5_9, 379 449, 530
23.5 26.5 29 34 42 51
5 6 4.5 3 2 2
2.4 3 3 3.3 3.6
14.1 16 17.5 18.7 23.4 29
7 7.5 8.5 12 15 18
6 6.5 7.5 10 14 17
1.4 1.6 1.5 3.5 4.2 5.6
18.5 20.7 21.5 21.6 23.6 29.7
70 80 90 110 142 170
48 60 70 88 114 140
- - - - - 32
8 12 12 12 12 12
3.5 3.5 3.5 4.5 5.5 6.6
0.25 0.25 0.25 0.25 0.25 0.3
64 74 84 102 132 158
2 4 4 4 4 6
M3X6 M3X6 M3X8 M3X8 M4X8 M4X10
22.5 15 15 15 15 15
44 54 62 77 100 122
- - 10.4791 12.8731 16.3791 16.3791
- - 3 4 5 5
1218 A A EREIR| 2018 16/ M\ RFR 16 16 16 16
M3x5 M3x6 M3x6 M4x7 M5x8 M6x10
®3.5x6 ®3.5x6.5 ®3.5x7.5 ®4.5x10 ®5.5x14 ®6.6x717
0.25 0.25 0.25 0.25 0.25 0.30
4 4 4 4 4 4
M3x6 M3x6 M3x8 M3x10 M4x16 M5x20
0.41 0.57 0.81 1.31 2.94 5.10

34



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

"G“l ANBFEIININY FE2LT

Silk hat Type with Input Shaft
HGUJ U —XIEANEBEEFRBAL. E—REDEBKEICHY TUV I EFERTBHIET.
T—). XT7. W TIIREDERBEANICRIETEET ., HBHIN—ES YT NTHER
ENTVWET, —ILCIES—=IE QU ITHERENET .. JORREERITBNZRNS
IEXIRERELET,

HGUJ series adopts the input shaft structure and uses a coupling to connect with the motor,
which can correspond to a variety of input types, such as pully, gear, coupling, etc. The
configuration is designed with front and rear covers, and shaft seals and O-rings are used as
seals. This reducer configuratioin has good leak proof effect.

BE BELEE IR 1 EhnftiR2
Number Reduction ratio Add spec 1 Add spec 2

HGU) - - - -

TR E(LHR / Reducer Specificatioins

Rated Toraue it for Repeated ~ Limit for Average o, otie o MRS ot A0es o on e T
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm Nm r/min r/min Ix10™*kg=m? Jx107°kgf-ms?
14 80 10 30 14 61 8500 3500 0.091 0.093
100 10 36 14 70
50 21 44 34 91
17 80 29 36 5 113 7300 3500 0.193 0.197
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.404 0.412
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 1.07 1.09
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 2.85 291
120 178 459 281 892
160 178 484 281 892
50 178 523 255 892
80 268 675 369 1270
40 100 345 738 484 1400 4000 3000 9.28 9.47
120 382 802 586 1530
160 382 841 586 1530

35



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ &% / Technical date

-AEmERE/Angle transmission accuracy
Lt Reduction ratio ﬁ{l‘i_ unit

itt For all reduction ratio arc—min

-EXTJROX/Hysteresis loss
5}&%]:'3 Reduction ratio ﬁ{ﬁ unit
50 arc—min
8oLl kE arc—min

A/N\WO Sy a8/ Maximum backlash amount
5}&%]:'3 Reduction ratio ﬁ{ﬁ unit

50 arc—sec

80 arc—sec

arc—sec

arc—sec

arc—sec

144 1784 20%4 25%4 328! 40%4

T 2.0 3.9 7.0 14 29 54
T. 6.9 12 25 48 108 196
X10*Nm/rad 0.34 0.81 1.3 25 54 10

X10*Nm/rad 0.47 1.1 1.8 3.4 7.8 14

X10*Nm/rad 0.57 1.3 2.3 4.4 9.8 18

arc—min 20 1.7 1.8 1.9 1.9 1.8

arc—min 5.6 4.2 5.3 5.4 5.4 5.3

X10*Nm/rad 0.47 1.0 1.6 3.1 6.7 13

X10*Nm/rad 0.61 1.4 25 5.0 11 20

X10*Nm/rad 0.71 1.6 2.9 5.7 12 23

arc—min 1.40 1.3 1.5 1.5 1.5 1.4

arc—min 4.20 3.3 3.9 3.8 4.0 3.8

-¥2EN~JLY/Starting torque
S EE Reduction ratio
50
80

50
80

50
80




ﬂigﬁﬁﬁ:*i ‘ Reducer Specifications

HGUJ

NH2X / Dimensions

ZDOHEAED CAD 7—2& (DXF) [FR—LNRX—=2 KA O0—-RTEEY .. URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

F‘
G H | L
—~
K M
J
R 0
U-oV
o e
@ s
ERE_—— LLE
JAG:I---’—i
T
S
| 2B 8 ENFRER-M3X5 20fEp | 6ENFER-M3X6
e
Q_, 0 cjl = ) *Lﬂﬁ
—I g P - -
. s 0
PLR |
e = ) —f 1
%o o % s
“ b&_‘—/ah
147 gL

37



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

[mm]
14%! 178! 208 2574 3284 40%!
70 80 90 110 142 170
54 64 75 90 115 140
36 45 50 60 85 100
74 84 95 115 147 175
6 8 10 14 14 16
50.5 56.0 63.5 72.5 84.5 100
15 17 21 26 26 31
20.5 23 25 26 32 38
15 16 17.5 20.5 26.5 31
14 16 20 25 25 30
10 10.5 10.5 12 14
8.5 9 8.5 9.5 13
2.5 3 3 3 5 5
21.7 23.9 25.5 29.6 36.4 a4
11 12 16.5 22.5 22.5 27.5
- 5 8.2 11 11 13
0.5 0.5 3—(()).025 5—?).030 5—(()).030 5—(()).030
" " 3—8.025 5—?).030 5—(()).030 5—(()).030
- - M3X6 M5X10 M5X10 M5X10
64 74 84 102 132 158
8 12 12 12 12 12
3.5 3.5 3.5 4.5 5.5 6.6
44 54 62 77 100 122
1248 ch 818 AV ZE R | 2018 h 1618 A3 % R R 16 16 16 16
M3X5 M3X6 M3X6 M4X7 M5X8 M6X10
$3.5X11.5 $3.5X12 $3.5X13.5 $4.5X15.5 $5.5X20.5 $6.6X25
BH=kg] 0.66 0.94 1.38 2.10 4.40 7.30

38



HE#E{:I:*% ‘ Reducer Specifications

"Gs hZEE#MEZ2 14T
Simple Type with Hollow Shaft

HGSH > —Xi3hZeigEzHFALTOET ., BEHOOFEBENICE—RICREYHL<
REPEKRZERETESLO. FELATINDNREICEMLET, REHAN-DOKWT
YA, BERDPEMPREICERMBAMSITDRICENT,. RFOBHREPEELET.
HGSH series adopts hollow shaft structure. The piping and wiring can be arranged in the hollow
structure of the rotation center without biasing the motor, which contributes to the miniaturization
of the device layout. The design without front and back cover is convenient for customers to
directly assemble to machinery and devices, improving the freedom of design.

BE BELEE IR 1 EhnftiR2
Number Reduction ratio Add spec 1 Add spec 2

HGSH - - — -

TR E(LHR / Reducer Specificatioins

Rated Toraue  Limit for Repeated  Limit for Average o, o2 (% A0 ERE e A on i i
Number Reduction Ratio at 2000rpm Peak Torque Torque Torque Speed Speed
Nm Nm Nm Nm r/min r/min Ix10™*kg=m?* Jx107°kgf-ms?
14 80 10 30 14 61 8500 3500 0.091 0.093
100 10 36 14 70
50 21 44 34 91
17 80 29 36 3 113 7300 3500 0.193 0.197
100 31 70 51 143
120 31 70 51 112
50 33 73 44 127
80 44 96 61 165
20 100 52 107 64 191 6500 3500 0.404 0.412
120 52 113 64 191
160 52 120 64 191
50 51 127 72 242
80 82 178 113 332
25 100 87 204 140 369 5600 3500 1.07 1.09
120 87 217 140 395
160 87 229 140 408
50 99 281 140 497
80 153 395 217 738
32 100 178 433 281 841 4800 3500 2.85 291
120 178 459 281 892
160 178 484 281 892
50 178 523 255 892
80 268 675 369 1270
40 100 345 738 484 1400 4000 3000 9.28 9.47
120 382 802 586 1530
160 382 841 586 1530

39



ﬂﬁgﬁﬁﬁ:*i ‘ Reducer Specifications
@ Kifi&E# / Technical date

-AEmERE/Angle transmission accuracy
i Lb Reduction ratio B3] unit

%ﬁﬁtb For all reduction ratio arc—min

XTI RXOX/Hysteresis loss
;@ZJEHZ Reduction ratio ﬂﬁ"[_ unit
50 arc—min

8oLl E arc—min

BX/I\vISva1&/Maximum backlash amount
JBIE Lt Reduction ratio B3] unit

50 arc—sec

80 arc—sec

arc—sec

arc—sec

arc—sec

Bl (IF1EE) /Spring constant
JBIE L Reduction ratio 148! 178 20%! 25%1 3281 40%!
T 2.0 3.9 7.0 14 29 54

T 6.9 12 25 48 108 196
X10*Nm/rad 0.34 0.81 1.3 2.5 54 10

X10*Nm/rad 0.47 1.1 1.8 34 7.8 14

X10*Nm/rad 0.57 1.3 23 44 9.8 18

arc—min 20 1.7 1.8 1.9 1.9 1.8

arc—min 5.6 42 5.3 5.4 54 5.3

X10*Nm/rad 0.47 1.0 1.6 3.1 6.7 13

X10*Nm/rad 0.61 1.4 25 5.0 11 20

X10*Nm/rad 0.71 1.6 2.9 5.7 12 23

arc—min 1.40 1.3 1.5 15 1.5 1.4

arc—min 4.20 3.3 3.9 3.8 40 3.8

50

80

‘EERE V2 /Buckling torque
iztt Reduction ratio iﬁ‘[ unit
ﬁﬁtb For all reduction ratio Nm

40



Hﬁﬁﬁfﬂi ‘ Reducer Specifications
HGSH ,

NH2E / Dimensions

ZOHEGED CAD 7—2& (DXF) EAR—LX=KYH7>O0—-RT&EFY . URL : https://SKG2016.com
The CAD data(DXF) for this product can be downloaded from our website.

C
D2 D2 D3
El E2 E3
F
E‘é,:m
~| o~ o] ~
-~ T = -~
| o T <| T
s & < =
| 2 BB EL%RER 2018t | B1En4EHE
M3X5 (¢3.5X6) M3X6 (¢3.5X6.5)

C
11 1213 C C
J1 J3 Il Iz 13 Il I2_ 13
Je Jz J3 Je J3
T
Aot [ [ [ [
s s il s a7
M~ |~ © O] |~~~ N~ o=~ |~~~ ~| w0
| = - | % < |z @ g | 4= - c| |-
—lau| < —laul | au] ||| — —la| = ey o= — | —lad| < N < | cu|—
=== zZ|=z — [ g === == a1 2124 =Z|=Z = = S |
sl SARS o |o|ele s|e|® < slle|l=l= s|le|s|® = e|le|le
01 O2_| 03 01 02 | 03 01 02 03
147173 20% 25
C
C 11l 12 13
11 2 13 K J3 J4
Ke| _ Kl J3 Ke |
1 Ly
T T T
| | | |
| | | |
=t e S et =g =) R T [ T O R Lot
— o —
SEEE © o139l =122 ©f || 3155
slB|e|® N Y IRSIESS ASH ISR SS gﬁ% S ASHIRSH IR Y
% = REEIE
01 o2 03 01 02 03
3% 408!

41



Hﬁﬁﬁfﬂi ‘ Reducer Specifications

@ ~1;%3% / Dimensions Table

[mm]
1484 1784 2084 25%Y 3281 40%!
50 60 70 85 110 135
52.5 56.5 51.5 55.5 65.5 79.0
16 +8.4 16 +8'5 9_5+8.6 10+8.6 12+8.6 13+8.6
23.5 26.5 29 34 42 51
13 14 13 11.5 11.5 15
2.4 3 3 3.3 3.6 4
14.1 16 17.5 18.7 23.4 29
7 7.5 8.5 12 15 18
6 6.5 7.5 10 14 17
48 60 70 88 114 140
70 80 90 110 142 170
P1 3 3 6 6 6 6
P2 M3 M3 M3x6 M3x6 M3x6 M4x8
oP3 - - 0.25 0.25 0.25 0.25
Ql 8 12 12 12 12 12
»Q2 3.5 3.5 3.5 4.5 5.5 6.6
0.25 0.25 0.25 0.25 0.25 0.3
0.45 0.63 0.89 1.44 3.10 5.40
20 21.5 19 20 29 34
20 21.5 20 22.5 23.5 28.0
(12.5) (13.5) (12.5) (13) (13) (17)
2.5 2.5 - - - -
7 7 7 6.5 - -
7 7 7 6.5 - 9.5
- - - - - (7.5)
- - - - 13.9 15.1
- - - - 1.9 2.2
22 27 32 42 47 62
20 25 30 40 45 60
- - - 38 - 59
14 19 21 29 36 46
20 25 30 - 45 -
22 27 32 42 49 65
20 25 30 38 45 59
- - - - 42.5 57
14 19 21 29 36 46
20 25 30 40 45 60
14.5 19.5 21.5 29.5 36.5 46.5
10 10 10 10 10 12
22.5 24.5 (19.5) 22.5 (30.5) (35)
20 22 22 23 25 32

42



ﬁﬁ%ﬁ@%l“ﬁ | Model Selection Flow

43

R D DR E SR DOFERR

X43-1

- EHEFNLY - EHEIER
- SUTIREE - BEE&RANLY
- B [EER R CTERIVIEE
- E—XVINHE

Operation condition of the reducer
- Average output torque  * Radial load
« Maximum output torque  * Axial load

+ Average rotation speed + Moment load

+ Maximum rotation speed

A

BREEHADREL

Re-evaluate the operation contidion

A 4

RO % (REE

Temporary selection of a model

TLYYART ) ) HFan D
Calculate the life span for the
elastic bearing

glﬂll

JORAO—FNTF )20 JHFmDHER
Calculate the life span for the
main bearing

ANz HFw DR
Calculate the life span for the
input bearing

NG

NG

NG

R DRRE

Reducer selected

) 4

ﬂﬁ@ggt\\\\OK

Re-evaluation of
the model



3EHL /\X—~ | Operation pattern 44-1
T1 | : i
[ |
T2 | :
| |
| Ts1 Ta
amhLy |
Loadt |
oad torque | -
! ! | Time
| N2 | |
N1 '
|
' |
|
HHEER : N ™
Output speed | | |
| | B
-::t1 ke tz >l-<t3;-i|-< . J Time

OFYEFIMLY - RABHFMLIOEL

Calculation of average output torque and maximum torque x 441
EHER NV Tao Nm Tao= 3/ ni-ti-|T1%+nz2-t2- [T2°+ - -+nn-tn- | Tnl®
Average output torque
ni-ti+nz-t---nn-th
%k%ﬁ 91274 Tmo Nm Tmo=T1-T2- - TnDEKIE
Maximum output torque Tmo=Largest among T1:T2---Tn
BRAEBEMNLIDPFEEAUT ThHB I EamRBLTL LI
Please confirm that the maximum output torque is less than the allowable output.
@ FHADEGE - ZEADEGHROFEH
Calculation of average input speed and maximum input speed X 44-2
Y HEIER ¥ . _ ni-ti-+n2-t2---nn-tn
Average output speed nao r/min | nao= tittat - +tn
R EER Ao r/min | NMO=n1-nz:--Nn DFRAfE
Maximum output speed nmo=Largest among n1-n2---nnDERAIE
T A N EIEREK ; ; i — — i ;
Beraee s eeed nai r/min | nai=naoxR (R=i##&tk) (R=Reduction ratio)
& A NEEGH ; ; i — — ; ;
Maximum input speed nmi r/min | nmi=nmoxR (R=i&&tt) (R=Reduction ratio)
BRERANBGEEDSERREANBGEHRUT THdIEamRLTEZL
Please confirm that the maximum input speed is less than the maximum allowable input speed.
OF 315 -]
Calculation lifetime * 44-3
Ty g AXT) 2 5 FFan bl = Tar \° ( nar
Flex bearing life time L i Lhe=7000x ( Tao % nao
EAE ML Y Tar Nm | HEEEROTIEHE ML OFERAME
Rated torque Maximum allowable average load torque for reduction gear specifications
EFE AT EIERER nar r/min | 2000r/min
Rated input speed

44



- TERERR(Y O A0 —S%05) / Main bearing specification(Cross roller bearing)

CEZV U =XBIFEEEHFOSEMLE
CG')—X /CG series

& 45-1

E Roll%ifi?:eter e e e ﬁlﬁ:ﬁle_m):;tﬁ% :I\E;:(nt)st':ﬁmr;itf
N EARBERTE EARHERTE
Basic dynamic load rating Basic static load rating
dp [m] x 10 [N] x 10 [N] [Nm] % 10* [Nm/rad]
14 0.035 0.0095 4.7 60.7 41 438
17 0.0425 0.0095 52.9 75.5 64 71.75
20 0.050 0.0095 57.8 90.0 91 12.8
25 0.062 0.0115 96.0 151 156 242
32 0.080 0.0130 150 250 313 53.9
HG/1) — X /HG series *45-2

EATHHE
HEEFyF Basic load rating HRE—AUNGE E—AVNREIE
Nﬁﬁr Roller pitch diameter E*Eﬂi*ﬁﬁi %*ﬁ%i*ﬁﬁi Allowable moment load Moment stiffness
Basic dynamic load rating Basic static load rating
dp [m] % 10? [N] % 10? [N] [Nm] X 10* [Nm/rad]
14 0.050 0.0217 58 86 74 85
17 0.060 0.0239 104 163 124 154
20 0.070 0.0255 146 220.0 187 25.2
25 0.085 0.0296 218.0 358.0 258 39.2
32 0.111 0.0364 382.0 654.0 580 100
40 0.133 0.0440 433.0 816.0 849 179
- X8R/ \ X —/ / Operation cycle example 45-1 - S\ER &7 / External load 45-2
Fr. | | | | Lr
| | |
Fre | | | L
N | |
SY7PEE ! .
Radial load \ Lt
| I Time
} Frs }
| | | |
| | | |
| | | |
| | | |
Farl
I I I 4
| | | el
Fae | ! !
THv VS } | Fas |
Axial load } a4 H%%EJ
} } Time =
| F a3 | ]
} I I } L& |
| | | | ]
1 1 1 1 -
I _Ore i \ \
Or/) NOrs | }
| | | |
| | | |
B | | ' or |
Output H%Elﬁ
rotation speed Time
t te ts ts

45



- BARKBHEE—XMOEH Calculation formula for the largest working moment

Mm=Frm-(Lr+ L)+ Fam- La

Peak axial load

BRABRE—X>2 b
Peak working moment Mm Nm
RAT 7 IViETE Frm = Fry, Fry, - Fr, D&RX{E
. Frm N
Peak radial load Frm = Largest among Fry, Fry, -+ Fr,
BA7 ¥ vIEE Fam N Fam = Fay,Fay, - Fa, DERAX{E

Fam = Largest among Fa,,Fay, - Fa,

BABHE—AY MBFBE—X 2 NAT TH BT EET BB EE

Please make sure the peak working moment is below the maximum allowable moment

IS TOTIIEE. HITFIOvIEE. FHHNEEHR. FEEFE-XVMORT

Calculation formula for the Average radial load, Axial load, Average output rotation speed, Average working moment *x46-2
TS ITIVEE Fra . prae ort PRI 4 0my b |Fn ] 4 Ony 1P|
Average radial load ra= Ory -ty + 07y -ty +01 by
7+ v ILEE Faa N Faa Y3107y -ty - IFay '3 + Ory - ty - [Fag| "3 -+ Oy -ty - [Fan| '
Axial load - Ory -ty + 01y -ty 01" ty
T A EIEREL
0 -t 0 o e 0 -t
Average output rotation Ora r/mim Orq =2 1t 0Nty +0m by
ti byt ty,
Speed
FHEHE—X> b o _
Average working moment Ma Nm Ma =Fra-(Lr + L)+ Faa-La
- TEARK. BEM|S7IVAEIEOED Calculation formula for the Loading factor,Equivalent radial load *46-3
- Faa <15 Faa > 15
B3 Fra+ 2Ma/dp ~— Fra+2Ma/dp =~
ERYK
Loading factor Xc : 1 0.67
Yc - 0.45 0.67
— o 2M
EJ%M7/7»HE Pc N Pc =Xc- Fra+—a +Yc:Faa
Equivalent radial load dp
- TESZOEF IR DETE Life span for the main bearing *46-4
e 106 c \'"s
Life span fo'r the main Lhc h Lhc = 0 Ora <fw : Pc)
bearing
1.0: 2 Z#H LRSS no shock
ﬁi%{%ﬁ . Vi) 4= Mz S 48 A H
Impact factor fw - 1.2:2DDEEEHD5E with some shock
1.5:4R& - HEZHF DB S with shock and vibrat

46



Aﬁiﬂ!?‘i@%‘F%"ﬁE ‘ Allowable load of input bearing

- ANESZDEFATTE / Allowable load of input shaft
1=y h&A47 (UH) EANEEAT (UJ) BREESHANBMOZFICRETSHZZFERALTVET,
BIRUAEETIVDANBICIAZHEDBEYHDPEDDPEHERL T LEL,
Both unit type (UH) and input shaft type (UJ) use deep groove ball bearings for support on the input shaft.
Please confirm whether the load applied by the selected model to the input shaft is appropriate.

*47-1
ATYUTA AT7YUJB
Bearing A Bearing B %X-}’)?)l«ﬁi
& EXBERAE EXHERAE EXBERAE EXFHERAE D fedalicad
Number Basic dynamic load rating Basic static load rating Basic dynamic load rating Basic static load rating
Cr [N] Cor [N] Cr [N] Cor [N] Fr [N]
14 4000 2470 4000 2470 270 16.5 230
17 4300 2950 4300 2950 29.0 175 250
20 4500 3450 4500 3450 270 155 275
HGUH
25 4900 4350 4900 4350 29.5 16.5 250
32 14100 10900 5350 5250 33.0 23.0 770
40 19400 16300 11500 10900 39.5 275 1060
14 2240 910 1080 430 20.0 14.0 110
17 2700 1270 1610 710 23.5 21.0 135
1 . E 1
HGUJ 20 4350 2260 2240 910 26.5 233 210
25 5600 2830 2700 1270 28.0 28.0 270
32 9400 5000 4350 2260 36.0 27.0 490
40 13200 8300 6000 3250 43.0 32.5 660
47-1 47-2
ST s
N7 )./7A 7Y I8
Bearing A "
Bearing B
C\ ? CE
T U8 RTUVTA e
Bearing B Bearing A A | /
Fr s =
Fr
=
Fa Fa
A
e P
= a——+
d4p q
b a b a

47



Tﬁiﬁ'ﬁ“ | Lubricant Information

SKG BEEDBBEAEIET ) —AEBTY.

IAVR—=RV NERATIEHEAFTEFICT ) —ABHDBETIDT. A T7BORMAHEZEBTE,

A=y hEA TS TIHBEFRFICT ) —RAREDPTETLTVET,

The lubrication method of the SKG reducer is grease lubrication.

For component types, grease application is required when assembling, so refer to the application method for each type.
The unit type has grease applied at the factory.

- R J') —2X / Grease used

SKG-1 SKG Grease % 48-1
%ﬁiﬁ#‘uﬁB%k@?ﬁ—a—%OU:x—(—a_o SHEEE \ 24 5
BESEMELS. BEDSPPHNIU—ZTT, Test itom Product name | SKG-1 SKG-
Grease that is applied to parts during assembly. 15 5 5
. . . L . 25 & O DFILATA
A grease with a low consistency and a slightly high viscosity. Thickener Lithium soap
SKG-2 il SRR Y 7 —
. _ . Base oil Mineral oil + Polymer
SKG DI yhEIRERMEIL. X7 ABF, BEEZDEL —
< MR EIRE C 90 . . Appearance Dark brown ointment
FDHDEDPELS. JU—RAAYTZYTIDPEFIATEDS = = B
. : BB & DE((25C) - -
H)—ATY . = | 2 265~295 355~385
. ) , , Mixing consistency (25°C)
SKG unit type reducer can be refueled without disassembling = =
the reducer for maintenance. TR .C . 200 185
For that reason, the viscosity is low and it is a grease that is Drop point *C
injected from the nipple with a grease gun. REEM ZEAIRRE THE
Shelf life 5yearsin a5 years in a closed state
- G —2 % EFRATTHIE / Grease application and assembly method
CGAA X 48-1
HsI5e #7%5 / Application

Assembly complete E E—

a4 oA
g

BREBEFO EHEEMNO
i Assembly after g Assembly after
applicationl® applicationl@
= = I—H—TH U — ABHRAEAT L TFEL
Please install after applying grease on the user side
CGUH 48-2
#HIT5E 275 / Application

Assembly complete

: . Lei}

- < O < N —

= = it Lo
Assembly after @

application

1Y —ITH | —RBRREHMT LTS

Please install after applying grease on the user side

48



Tﬂiﬁ'ﬁ“ | Lubricant Information

HGAA

49-1

#3755 T
Assembly complete

BWBEAO
Assembly after
applicationi®

BRREAAFO
Assembly after
applicationl® Jg

A—Y—ITT) —ZABHEBEAHFLTTFEN

Please install after applying grease on the user side

E_

275 / Application

HGSO

49-2

#Harse

Assembly complete 1%‘
0 B

—

BERAER
Assembly after
application

I1—Y—RITT) —ZABHMEBAFFLTTFZO
Please install after applying grease on the user side

275 / Application

el
-l

HGSH

49-3

#3757
Assembly complete ]
]

—

ZRRHAR
Assembly after
application

I1—Y—fITT ) —ABHmERAFTLTTFZO
Please install after applying grease on the user side

275 / Application

==

49



Tﬂiﬁ'ﬁ'l | Lubricant Information

- BREUTAEICH T B EH AL / Coating with different assembly method 50-1

IKIFEERAS ADE T EE B A8 b Z B

Horizontal installation Facing up installation Facing down installation

- BEIRICH T B HIREFHRE / Recommended amount of grease for wach model

CGAA / CGUH (g) % 50-1
&
BT 5% Nimber

Method
IKFER A Horizontal installation

A NEH T REHUT Facing up installation
A D& E RIZFHUT Facing down installation

HGAA / HGUH () *E50-2
Hyﬁ'jf}f N%]nﬁr

Method
IKFEER{H Horizontal installation

ADET mEET Facing up installation
A A8 E RIEHRT Facing down installation

- ¥AITFINETOD;FEZEIE / Precautions for assembly procedure

Q2 TDRATICHBL T M DBIEHTHICY —F 2T AT FAVNICTVLIRT A 2B FF . REICT T —
7 D1 —RZBALTLEEN, RICVI—T - P1XL—2ZBALERETILVIRATSA V&Y —F1
T AT A VICEATHEEFTEADEBEL. EEREGH TE LAY ET,

OZMMDEAEDLERFIE. BELATHLATLEVWTTIE0N,

For all types, be sure to assemble the flex spline to the circular spline first and then insert the wave generator last when assembling.

If the flex spline is pressed into the circular spline with the wave generator inserted first, the tooth flanks of each gear will be damaged

and normal operation will not be possible.

When assembling each part, do not push in with excessive force.

- J) —AALHARFHR / Grease replacement period
Q@ HEWD T ) —AFMITREICKVARZLFEEZITET, V) —RARED 80CLLICAES EREHIEDPIRISE
HET,
BEOFEATHREMREED BOCLULICKEBI5E. BEBNREREDPEZEAOSNETOTHRRRIUETT .
The grease life of the reducer is greatly affected by temperature. If the grease temperature exceeds 80°C, quality deterioration will
proceed rapidly.

If the speed reducer temperature exceeds 80°C during normal use, it may be due to a mechanical abnormality and must be disassem-
bled for inspection.

50




Hyﬁl'*ﬁfg | Installation accuracy

- BHHEE / Installation accuracy

CGAA

X 51-1

HGAA

(L[]8}
(mm) §51'1 (mm) 5551'2
I Number 14 17 20 25 32 I Number 14 17 20 25 32 40
0011 | 0015 | 0017 | 0024 | 0026 0011 | 0015 | 0017 | 0024 | 0026 | 0.026
0011 | 0012 | 0013 | 0014 | 0016 0011 | 0012 | 0013 | 0014 [ o0o0t6 | o016
0008 | 0011 | 0014 | 0018 | 0022 0016 | 0021 | 0027 | 0035 [ 0042 | 0.048
d 0015 | 0018 | 0019 | 0022 | 0022 d 0015 | 0018 | 0019 | 0022 | 0022 | 0024
e 0011 | 0015 | 0017 | 0024 | 0026 e 0011 | 0015 | 0017 | 0024 | 0026 | 0026
. 0017 | 0020 | 0020 | 0024 | 0024 . 0017 | 0020 | 0020 | 0024 | 0024 | 0032
FIVE L FILE L
AT BT 0.008) | (0.010) | (0.010) | (0.012) | (0.012) P FYS T EAT (0.008) | (0010) | (0.010) | (0.012) | (0.012) | (0.012)
Oldham 0030 | 0034 | 0044 | 0047 | 0050 Oldham 0030 | 0034 | 0044 | 0047 | 0050 | 0.063
coupling type coupling type
0.016) | 0.018) | (0.019) | (0.022) | (0.022) 0.016) | (0.018) | (0.019) | (0.022) | (0.022) | (0.024)
CGUH 51-3  HGUH / HGSO / HGUJ / HGSH 51-4
[1]a]A] =5
o]
% [o]on[a] g r
e =
a
—¥—

HT

ae

) | Lp
(mm) 5551-3 (mm) 2%51'4

FIE Number

a

AT L
Hho TV T AT

Oldham
coupling type

51

0.011 0.015 0.017 0.024 0.026
0.017 0.020 0.020 0.024 0.024
(0.008) | (0.010) | (0.010) | (0.012) | (0.012)
0.030 0.034 0.044 0.047 0.050
(0.016) | (0.018) | (0.019) | (0.022) | (0.022)

?.l_’ﬁ Number

a

FILE L
HyTN G 84T

Oldham
coupling type

0.011 0.015 0.017 0.024 0.026 0.026
0.030 0.034 0.044 0.047 0.050 0.063
(0.016) | (0.018) | (0.019) | (0.022) | (0.022) | (0.024)
0.017 0.020 0.020 0.024 0.024 0.032
(0.008) | (0.010) | (0.010) | (0.012) | (0.012) | (0.012)




:E_ '5( Hiﬁl'jiif | Motor installation procedure

- E— A BUMTFNE / Motor installation procedure

@E{FFIE1 / Proceduret

E—RICT TR fFF Attach the flange on to the motor
A=y MZHY T T =B) T Attach the coupling to the unit
3=y bABRYGT Attach the unit

52-1

| =il :
= =
ﬂ‘éoj;;jﬁga sovy /L T es
F|ange Motor
@FUFFIE2 / Procedure2
E—&REICHY T T BRI Attach the coupling to the motor shaft
A=y MMT SOV 7 Attach the unit on to the flange
T—RICT DR Attach the flange on to the motor 52.0
P ¥i
—1 Coupling | {]E:BjL
d=v b T—4
Unit Motor
7709
Flange

¥ EsHEE s Caution during installation
T Y—F215 - ATSA VTV IRTSA U DPBAZNZIRETHAL T TR

Please be sure to put together in the state by which a circular spline was inserted in an flex spline.

- BBROEAEDERIE. BEANTHLARLWTTIL
Do not use excessive force while mating parts.
cI1—7 - V1xlb—&, E—REBEIFTRALEVDEDITERELTTZWL
Please watch for tilting during input section assembly(motor insertion into wave generator).

52



1515 Nl/7 ‘ Transmission torque

- R hﬂi{?j‘ / Bolt mounting

AV b OFTF ML IFTROBEICKR Y FT,

RV N ORI ML ICTHRERRER ML DPERBRYETOTEREL TLZE0N,

Please refer to the table below for the bolt tightening torque.

Please note that the torque that can be transmitted varies depending on the number of bolts and tightening torque.

CGAA 53-1 wh7s>omat/ Output flange attachment % 53-1
Y=F1F - 2T54 VEHT (U0 FU T Number

Circular spline attachment

RILEH A X Bolt size
RILEZAE] Bolt count
H{+PCD Bolt PCD
#{thILY Tightening torque

Ly AREPP): ]

OQutput flange attachment

{i)g |‘}|/7 Transmitting torque

Y—F17 - A7 54 VBT / Circular spline attachment #* 53-2
EIZE Number
RILEH A X Bolt size
RILEARH Bolt count
H{+PCD Bolt PCD
#4tRILY Tightening torque

{i)g l~)b’7 Transmitting torque

o=t

Y=F17 - RTSA VA (59 TR)

Circular spline attachment

CGUH 53-2 whH75> B / output flange attachment % 53-3
Y—%15 - RI54 VB (FUR) ELF Number
Circular spline attachment RILEH AR Bolt size

RILEARSL Bolt count
HR{+PCD Bolt PCD
Y95 IRt 1 ﬁﬂrﬂ‘}l«7 Tightening torque

Output flange attachment {Z3E R ILY Transmitting torque

HY—F217 - A7 FA EUS / Circular spline attachment * 53-4
FIZE Number

RILEHA X Bolt size

B=F15 - 2054 VBN (9 TR) 3
Circular spline attachment IV Bolt count

HR{+PCD Bolt PCD
ﬁ{’ﬂ‘}l/7 Tightening torque

1%% |‘)|/7 Transmitting torque

53



1515 Nl/7 ‘ Transmission torque

54-1 wH75> it / output flange attachment

CGGH
Y=%15 - RIS VB (5v TR
Circular spline

attachment

BIFE Number

LAY
Output flange

RILEHA X Bolt size
RILEAEL Bolt count

HER{+PCD Bolt PCD

Q :’f-ﬁﬁlﬂbb Tightening torque

attachment

E:zlﬁb? Transmitting torque

FUFE Number

RILEH A X Bolt size

RILAREL Bott count

Y—F217 - A7 S54 VBAF / Circular spline attachment

& 54-2

HGAA

54-2

HR{+PCD Bolt PCD

ff-ﬁHHb? Tightening torque

{iL"}bb Transmitting torque

B0 VB
Qutput Tlange

attachment

Y—F215 - 2T5/ VBN (FUR)
Circular spline

attachment

H=%17 - 2754 VA (99 TR)

Circular spline

attachment

HH 75> DB / Output flange attachment
ﬂ% Number

- RILRHA X Bot size

RJLRAREL Bolt count

#* 54-3

H{$PCD Bolt PCD

ff-ﬁHHbQ Tightening torque

1£E|‘}l/7 Transmitting torque

FIFE Number

RILRHA X Bot size
RILEAEL Bolt count

Y—F15 - AT 54 VBT / Circular spline attachment

& 54-4

HGUH / HGSO / HGUJ / HGSH

54-3

H=%15 - 2754 VAT

L////Circular spline attachment
[:X:]
— —r AR (]
X Output flange attachment
Sha— g

H{$PCD Bolt PCD

ﬁHHb7 Tightening torque

{:EJSHW Transmitting torque

Hi57 5> BT / Output flange attachment
FUFE Number

RILEH A X Bolt size
RJLAREL Bott count

& 54-5

HR{+PCD Bolt PCD

ﬁ%ﬁ' [91% Tightening torque

{EE"}bb Transmitting torque

FIFE Number
7k}|/|“"j"fx Bolt size
RIVEAH Bolt count

Y—F15 - A7 541 VBT / Circular spline attachment

#* 54-6

H{+PCD Bolt PCD

ﬁ{q |‘}[/7 Tightening torque

1£\L|“}|/7 Transmitting torque

54



£201QW9LT 6T > WL - B

R
B B @@M 208dg ppv asdg ppy o0Oliey pasadg w @
- - 0c] CHRIE P T 9p0) [3PON
£€0°0 60°0 | 001 XX — XX —XXx-¥V1-vvDd: N-C¥k
£E0'O 600 08
€00 600 065
(au-6%,_01) (v/2a8=1)
Emmmw“wwmowi . 91338u] go jusmoy | (D) SSBN jolaTy paads
AEHBLY IR E=E-! BE BIETE

AONVAEVATO ONISNOH WNANINIW = D "H* WX

T . =
8-G*'g8] -
-
o
s = ﬁrﬁ ﬁ4J 1|1=g =05
S |2 N
o T & N o>
® |2 |8 T B oo
oo e = N s |12°
2 o8} Hm_ [ [ W |2
(o)) [00] 0 |o
EN-2 | | .1
=
% Ve
G2 ﬁ EN-2Z
Q T
) I D"H'IN
=
' 21 0°H'W
S
2 3 2
c
g [T .0, G 1
(a) 0 .
M 70682
4

DY
Y/

<+

55



Tj-ifi | Dimensions Table

RN
e
= oo
<C %S:-"
a4 K252
<z KEuvmmmm
(5]
i N ===~
) . |lololo|lol
& T = |Ojo|lolo
e N ES
— =< £ Q
w | TG
> AT
O oo
s gxg
= 2
D —~
= ERIteliteliTelite
- g < | —|—|—|—
= w - I
pam— %)
- : [@|o|0|o
I 2
© EERy ololo
w ¥ OO
- gn 0|m| 2N @
. ~ e
10°0- = Q.
& quog(p >< w0
— Sve H'D'IN
&)
. - 819
= = oS
ol =| @ iy xEa
l =73
13! \E‘ N o 2
- T — |
<] ™ | w L [ e \
. - |
o0 - | | ™ — 5
Lo - | O > A
) Se| of o ‘ o B
Qf gol ©f £ ‘ o 2
-] ad
jas
S , ‘ ! ‘ ) | °
= 1= T 11 > o=
T T T =
o0 %%n
>
s00-0+SHO 1 ® \ G
f N 1 N
ctlad
GYeD*H'I Jﬁ
)
O
- )
Lg
JO
M —
%/(D
1N
RH2

KR - DAL FSBEET 255506 U &9

BB 4NsLE

)]
(0]



£2NQWOLT 62T > WL - B

ORI
c6l'0 82'0 091 28dg ppy ssdg ppy 0138y peadg mem Amww
€610 82°0 021 101 N 21711 S 8p0) 18pON
€610 82'0 | 00! XX — XX —XXX=-0J-¥V¥HD: -CYE
E6l1'0 82'0 08
€610 820 0g

(m-6%4.01) (¥/2a9=1)
Emmmw%wmnwi Wlu B1348U[ JO Jusmop (B3) sSTN | 012vy paads
=i AT [N X—2HE EE T 0

dONVIYITO ONISNOH WANINIW = D 'H*NX

ol
N
QQ
%

< 2 |- -

/
e s |= =
\ m - T
! > |- e S e |-
Rl R _ R L e x > |8 |
i \ o e s o
—_— @\ : ﬂ.o w B 9+ mgu
(@D \ 1 SIS &
IS ® =
s\ | iz
: 5 =
G E9-9]
(G*EXGEP) el Bsre
PXEN-2 S
5roo G*1 D'H'IW
G*J S

~G'02 0°H'W

21 8,612
7o Gree

L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

<+

57



£2NQWOLT 62T > WL - B

58

SRR
Sl 2r 0 091 i see asis ore o1ien pesis =
Elv'0 gv 0 021 SHWIE  THRNE  WEM 3p0o) [9PON
EIV°0 27’0 | 00| XX — XX —XXX-G2-vvho: -CVk
V'O 270 08
clv'0 2v 0 0G
(au-6%,_01) (v/2a8=1)
Emmmw“wwmnwi 1. v1300u] jo juamoy | (BM) SS®W | Ol3vy paadg
BESELY [N X —2HE BB T
FONVIYET) ONISNOH WAWINIWN = 0 °H'Wx
9-gr g
g g > \
<0
o \ L
o | || TT 5 = |s
( 1 A % ) Il () T olq
PRk 5 o |8 AR
= = S M (@] n @ q— 94— 1T o) ~ (@) o))
| | (o)) + | O |
T MD [N | oo % MD
— J N % il H m o” |
no \ T
8 /
I ¢
od . - 1 /|
- //z ,l% %Wﬂﬁ
N
X
S
SO (FXS*v¢)
© S yo-9I IXVIN-2
m 2ig-8; 6srv ST 0'H'W |
= CEy 01| €
()]
5 g 2d
E 0 €2 0'H'N
c
g €1 .8, 72
° 70 /€
N

I




£201QW9LT 6T > WL - B

SR
691 68'0 0391 28dg ppy ssdg ppy 0118y pasds mew Amwv
69" 1 68'0 | o2l ZHRNG  THDNE TR 2p0) 190N
69" 680 00! XX — XX —XXX-2E-VVvVHD: N-C¥ik
691 68'0 08
69" 1 680 06§
(u-6%4,.01) (/2a9=1)
S1xy 090N oy | wle B1348U1 so jusmOp (B3) sse | 012y pasds
SE¥ELY [N X —2HE ) Tl

HONVAVATO ONISNOH WNWINIWN = D "H"NX

'-g9rEg
R
Q
0/0
Q

N\
. _ : W < H 1Y < e
— - Y] - w
1 \ ) - o T [@n)
| - - - | |- -
HH - S — - > o | —-— -1 o |0 o |o
AW|ﬁﬁ% .ﬁf | _ o op o5 |™ b
_ lo & ¢ o |
— . r : 5 |3 Bl = > |8
ZEAN _ / : J 0
W . J| 2'€
Om - H_” - A L} »| il
o — ==
G GP-9] _
§1070- 651 G
N 1
) (UxG ce) LSS B
s JXGN-2 G 3g Gl D'H'W
” 71| €
c
c B'92 J'H'N
c
g 97 ,.8, 82
a T3y
H

DY
Y/

<+

59



o
LRNPWOUY ST O WEETHL - HEXx ©

ORI
B B 091 o8dg ppv oadg pPpPY ojiey psadg w @
- - 021 SHTNS! T e apon [9pOp
£€0°0 25’0 | 00| XX — XX —XXX-F7]-HNHD: N-C)E
EEO'D 260 08
€€0°0 2G'0 0G
(u-6%4_01) (¥/2a9=1)
Emmmw“wwmnwi Wl 4 B13d48U] jo jusmop (B¥) SSBN | 0138y p3adg
ey [N X~ g5 e

"G 8] 7e1g
76
S- ﬁ ASS
w Ul
58 ===t U s | »
S o - S o
S 3= -— lm, s — Mo |
Wl o V& = i oo |7 (b
EN-¢ ’ —
xl% S8
-
)_+ T8XVYIN-9 Q%
2 ﬁ =
e (o}
) G*°¢
=
” 21 | Gy
5
- ) 23
o
€ 143
o Z
e 8'8-1v
H

DY
Y/

<+




L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

<+

£201QW9LT 6T > WL - B

Y
=\ ==

fﬁf\\u,u G
N,
o
-~ 4y
\/

NO L0 3 0¥y
AR

B

o
L

B B 091 28dg ppy 08dg PpPY o11ey paadg
6,00 89'0 Oc] ZHTIE THIIE e 8p0oy 18pON
62070 89'0 | 001 XX — XX —XXX-JI-HNHD: -CVE
6.0°'0 89°'0 08
6.0°0 89°0 0G
(u-6%,_01) (7/2a9=1)
Emmmw“wwmnwi Wl B1318U] 4O juamop (B¥) SSBN | 0138y p3adg
BESELY [N X —2HE BB T
8°'0
1'9- ) *02 G'ee
e G*'6
cN-2 - i
L [ | s
I~ | —
I y V212 |2
D B 1o-—-1 T Jlo o |2
© .ﬂ,uD 0 I\ oo mﬂ o .ﬂ,uD
o S o o
5] ~ G 2
O
: i ,
G'0 -0¢
7
2 Gy
8 62
JE
6'0- Gy

61



Dimensions Table

VRN
19+ 8 €] e
2 g
2 Bt
wo| o ] @ E lolm|lmlm|m
ool - O/ & -\@\ | o|o|lo|o|o
25 : NN ol el Bt el il Bl
=3 - el
ol ! ——— N s Olo|olo|lo
£ .
w| ® ( XX b NES
- - 2
< r == \ T:?
1 2=
&F S HHs &=
Y H
=
0 \ '
N @, 3 .
ol ! < (OO DD
N @ P N R I
o O
0 > _ =
= < \Xﬁ\\ _49 Qbﬁy o
| x .
(&8 Hd ool
‘'z g—u 0| o 2| N ©
&
€69
~ 0£0°9=) 4 9G¢ od
Lo 12¢ -
N~ m od (ug
S HE o
| ﬁm
| ! %%u
S e | o) 2
o | | | J |
O ) ] | _
TS o ©| ol o ! | ! ><;;§
« . ! [ 1 !:! %EE
— = T 4 -!_ = t s
o] < 1)) ! 2
- %ﬂ’é
o
= 4 L > 7
Ol¢ '
| &
0
Blor0s LHYV 1O )
BG¢ C‘U
0L¢ %
00" 0= )y 2L ¢ )
1 O
%)) -
=
€@ = [}
o)
‘E LO
eg] | ©
M
tﬁ%
Ho
tﬁE

ARB.EY BN

KR - DAL FSBCEET 295506 U &5

©

()]
N



L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

<+

£2NQWOLT 62T > WL - B

m:\ 0 m.ﬁ Dmﬁ o8dg ppy 08dS pPY aj1ey peadg
€lv'o G* ] Ocl JHTNE  IHD0E R
€lv'0 Gl 0071 XX — XX —Xxxx-G<J-HNHO:
Eiv'0 Gl 08
c1v*0 Gl 0S
we 6% ,_01) (v/2a5=1)
sty Sorop guy | «le B1eeul b0 susmop | (T SSTM ) OUITY Pasds
Bl EC Y IR =t BB AEROL
e
0-9'1¢ 62
%\Q.QQ NH
<
g2 n
» .
ANV R ——
' 5 it |
= =
5 5 5, (R
\ S |z e | o I | |& |
$%Y - {1 - o |~ T—-—rt+ - — |~ O |~ |0
SR RN A | Gy o+ |0 ||
- \ 7 B
" @ﬁ y & ]
+ R : _ 0 ===
3 G- =
|
_
§19:9:6Sr G S e
cm/ I
AMER
2 G'Go-01
g
0l 9¢
gy
0°1- 26

8p0) 18POINW

N-CNE

NoLLIBroY,
LR

=1C)

63



L
Kol
©
e
(2]
c
L=
(2]
c
Q
£
(=]
H

‘N

o)

£2NQWOLT 62T > WL - B

oadg ppv
PEHIE
X X

28dg ppv
SHHI
XX -

gliey psadg

T

—XXX-c&-HNDD

BE19

SE0D-JU El [0

691 2'c 091
691 2'c 021
691 2'c 001
691 2'€ 08
691 2'€ 0S
(u-6%,.01) (v/2a9=1)
i Tohyy et sissset g0 summoy | (S SSUN 0130 pese
BESELY [N X—2HE BB AEROL
/%
Jp
S
, 0.0x
@myw —@ &
Yo NE&C : =
1& oo \g\
HHEH _
- AN _ ?,
9 /
w = i)
.I /@ -
7 9°90-21
; SN-2 |
2i8-8:65r G
cn\:u /
0c

7l
"0-g9rgg J€
Gl
‘ o -
7 JT d )
mr \@‘ +I|V m
= ! ~
> e S oo | |
208 3%z (3
A
ol I|nv
= _
=7 |
T
I G*G
g
21 Gy
)G
- 29

8p0) 18POINW

N-CNE

NO L0 3 0¥y
AR

B

64



L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

o)

L2 01 P 9LY b > WL - B

- 0391
- - Ocl
€eo*o 8.0 001
£e0'o 8.'0 08
£cc0'0 8.0 06§
(u-6%4,.01) (/2a9=1)
iy Tolom Dus | 1 sses g0 wusmen | (90 SSPN | 013 Paods
SEHELY [N X —2HE ) HEH!

o8dg ppy a8dg ppy
SHRUE  ETNE
KX = XX

£Le
LHOED

ariey pasadg
T 8p0D [3PON

—XXX-V1-HDDD: N-C¥G%

0

1200+

T
AL
i

R 110
08070~ )y 959

8100+

ﬁg%m
oI

G*EcQ

G'E

GG 9¢

LJ

SISRRS

NO L0 3 0¥y
AR

B

@

65



Tj-ifi | Dimensions Table

.”CM
l (Cl -
0.079
0.079
0.079
0.079

(1=GD2/4)

BHE—A VN |
Moment of Inertia "1

0€0°0- /Y £9¢

E w
< ool o
o -
4 o
=
°
EERy ojlolo
w ¥ OO
IS
6LO v
0
1zokos LHOED
<
[ 1 >xEa
X =
| O @%j ) 2
al .
™M ﬁ‘ |
"&
LO ™m _., o
QN | | e 2
. >< 1= &
4o} -'L '/ %ﬁ:
w i o) 2
ol Y i -
o ai .
] . < B
H | JTJ 4= ©
I >
e} \ G
» N
0
ciov04|LHOT? \
I
&
)
O

o

O

[

M

Z P ﬁg
2906 T
/( #’f?’l\\?};’u. =

&)

‘~ a5 ((\k{;/l 5

KR - DAL FSBEET 255506 U &9

BB 4NsLE

(]
(o))



Tj-ifi | Dimensions Table

RN
(T
M= 2%
G
o5 2
Bay
<z8<
= njmln|nlm
oo oo o
L |o|o|o|o|o
NS
w EQ
s o
= o
I §
= E
2
'j O[O0 w0
e & | 00| 00(00| 00|
oo | - -] .| .| -
2| =] =] =] —
=
o
2
2 3 o|lolo
2 lolo
® O]
’ Lo
=3 B=|=|=
(B}
Q,
€69 »
0
an.miHDEfp
ad
NU
()
SR
=o
ﬂD'ﬂ
| X w2
- M \
oe}
ol — 3
. oo
< %ﬁm
M~ =
T ] <
- I | e
oyl w >< 55
| : e N
‘ I >
o ‘ G
-
QY
0
gig-Bs|LH VT |
I
OED%’LHEUP )
O
= (o))
/ ©
o
| &
i =
e i
EHo S
= =
<@
QI'J_L\§
NS
fon
1B
KX
N
B
40
-
3
]
P
N

67



£201QW9LT 6T > WL - B

68

T
eiv'e 25 'S 03] 298dg ppy dadg ppy oliey paadg w
glv'0 2G'2 02! SHROE  IHPE TR 8p0) [ 8pON
E1r'0 252 | o0l XX — XX —XXXx-GZ2-HHH): N-LC¥E
Elvr'0 G2 08
cly'0 26 ¢ 0g
(u-6%,.01) (r/2a9=1)
Emmmw%wmnwi Wl. 9t3seu] go qusmoy | (PH) SSBN | 0130y paads
gENbY ) 140x—ahE 1] TR
oS- ASS
- T 5
T s | T
—~ 17— — N[
+ O |
3 & T 5
3 8
(]
o)
K
" 21
c
2 v vE 'S
S
.m 2GS 9¢
8 8
1

I




£201QW9LT 6T > WL - B

LR
69" ] ot’S 091 o8ds ppy asdg ppy oOliey paadg w
691 ce"s 021 SHINE  THRNE T 8p0y [ 3POW
69" ] 2£'G | 001 XX — XX —XXX=ZE-HHH): OV
59 ] JE*'¢Q 08
69" ] a£°'q 0g
(m-6%4.01) (¥/2a9=1)
Emmmw%wmnwi Wlu ®1330u] jo juomoy | (PM)SSEN | 0138y pasds
=i AT [N X—2HE EE T 0
=-
- o —_—
Ol w
- O (R
Sk lE2E o B
Um $ m )_+ D,UD

9 SRVAS G

L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

<+

69



L
Kol
©
e
(2]
c
L=
(2]
c
Q
£
(=]
H

‘N

<+

£201QW9LT 6T > WL - B

~ ~ 091 2oadg ppy [oadg ppy o11ey peadg
- - 021 ST I ETE Rl 8po) [3PON
E€0°0 "0 | o0l XX — XX — XXX-7[-VVDH: -C)%
Ee0'0 110 08
€e0'0 11°0 0G
(6% ,.01) (v/2a9=1)
S1xy 090N oy | wle B1348U1 so juamop (B3) sse | 012y pasds
HEHEY [ N7 X —3HE) EE e
HONVIVHTY HDNISNOH WNANINIWN = 0 *H' X
I"8-Gg81
o = s |e
o 1Z < lw |~ O
o |- - o | o
o .H 1SS .H > | |T
® o [T =T o | o |o
do | & S o |od |do
: W o [ SRS
2 o — 12 g
\ S
TV XEN-2
LT "H'IN
IOH'IN 7
9
[ p 3,621
8-G°8

NO L0 3 0¥y
AR

B @

70



£201QW9LT 6T > WL - B

SR
_ _ 03] 2oadg ppy [oadg ppy o11ey peadg mew Amwv
620°0 810 = SHTE g 2T T °POD 12 PO
60°0 B1'0 [ 001 XX — XX — XXx=JI-VYVOH: ~N-C¥ik
65,.0'0 81°'0 08
6,.0'0 810 06
(u-6%,.01) (v/2a9=1)
Emmmw“wwmowi Wl. 9i3seu] go jusmoy | (PH) SSTW | 0130y paadg
HEHEY [ NAX—2HE EE e

JONVEVETI ONISNOH WANINIW = 0 *H WX

7B G dE

NEELE:
IO H'IN
=
s |z mwwq o o |&
2 Z |~ O |~
O - — - @ O no
- . o LT | | |z
(@D} « — 1#\‘\#{\}x < o o |
| S |0 i « | + |
oo | S oo |00 |00
o |on W |5 o lo
© MMW? e e i
———
T9XEN-2
Q
o [*SD"H'IN
=
» S
S
E 69 e
c
= G2l .0, 02
m
4

DY
Y/

<+

1



L2 NPUTE %kav%ﬂ@gm\f Hipx

eel'0 e'o 091 J2aesds ppy [08dg ppvY oliey paadg w @
E61°0 le'0 | o0zl JHRIG  1ERNE B 8p0) [8PON
€61°0 ie'0 | ool XX — XX - XXX-02-VVHH: N-C¥Y&
€610 1€°'0 08
€el 0 €0 0G
(m-6%,_01) (v/2a5=1)
Emmmw“wwmnwi ul. 9i3seu] go jusmoy | (PH) SSBN | 0130y paads
B Sl Y [ NAX—3HE EE el
AONVIVHTI ONISNOH WNANININ = 0 *H'IAX
0, LH B0 Fgrerie
G10°0+
S = m ]
9 N H
Q@O\ AN { ,// J
X % . , . ‘@‘ SN S S
(AN S |= = £ 2|
L > |- o .H o | |
- o |= oot -1T—-— o o o
! ! D,UD p .|. Q2 D,UD Dm D,UD
_ =Y e Sk ek
@] % v/ © W o1 o o [
- O
WUVW O\ :/iﬂ __ o \\ rxmx /
- = 8-
§*'c9-9
(G*EXGEP)
o e210i0-psr € VXEN-2
m ¢s1g-ay ©S SO "H'IN
o G 10 H'W 5
c
2 G*) €
c
g 21 58,612
a -G'Eg
H

‘N

<+

72



92
Q2
©
s
(7]
=
9
(7]
=
Q
E
[a)
H

‘N

<+

£201QW9LT 6T > WL - B

£1v*0 8v'0 091 Jasdg ppv
elv'o 8y 0 021 U
€lv*o 8v'0 001 X X
e1v'0 8v'0 08
elv'0 8v 0 05

(au-6%,_01) (v/2a8=1)

iy soroy gy | +le Sireer g ywsmop | (PDSSENORE POICs

BEHmEOY INX =28 e e

[o8dg ppvy

PHBE

— %H% —

0l1ey peadg

N 8pod

[ 8PON

XXX-CJ-VVOH: J-CY%

FONVIYITO DNISNOH WAWINIA = O °*H*NX EECENE
gig+gs LH 119 M
$ ) R |
< . - <
NG TR = | |
S 1 N ¢ SN
/ \ S wmwﬁ S o |z
/ ! A o= = N &K
e O o = sl=t——+ 7P 5[
[T T O DA Q |bo [od |
_ A\ // \ 2 IS L1 SE | RE
. . A \ N % % o) |© ASININS
[0} . o3 \ i -
Num /// 7 Aﬁ \ \\ xMHM”
~_ N - -
G'v9-91
(VXS 79)
510°0. 6SC ¥ OX V-2 il O THIN
S IO H'IN | €€
a1 | 5
80+ VC
5°0- )€

NO L0 3 0¥y
AR

B

73



92
o]
©
s
(7]
c
9
(7]
=
o
E
[)
H

‘N

<+

£2NQWOLT 62T > WL - B

69" 1 £6'0 031 2aadg ppvy [o0adg ppv o11ey peadg
69" 1 260 0c1 HTE PHTIE Rt
69" 1 )60 001 XX — XX -
659" ] .60 08
691 .60 0g
(m-6%4.01) (¥/2a9=1)
sin Soson oy | ele T1neeuD s swemoy | (B ST OLRTY Pavds
Y [N X 3T g5 ]
AONVEVATO DNISNOH WNWINIWN = O "H'INX
10— .
gig-0s LHVI® o 9°E2
QQ\Q - = ! - _
QO\ \\ > // -
N - o =
— o |
Y\ o = N =P |~
- 0
| 5 m@% ‘‘‘‘‘‘‘ L
/ bo | S s [° |ob
_ 5 ~ B |5
2 s | W R R
w " I !
oo N - ——H
o W \ - v
G*'Gop-9]
(LXG*Go)
§1010-6ST G JXGN-2
G*TO"H*'IN IO H'IN
71 9*'€E
97 g5, 82
9°0- vy

8pajd

[ 8PON

XXX-2E-VVOH: N-CY%

20094 VE9

NO L0 3 0¥y
AR

=

4



£201QW9LT 6T > WL - B

SR
D@.ﬁ Nm.ﬁ @@ﬁ Josdg ppvy Joadg ppv 0l1ey peadg w
0S'v EREL JHTIE  THTIE R 8poy [3pON
05 "7 1871 | 00l XX — XX — Xxx-0¥7-VV9HH: -CY¥k
oGy 28'1 08
0G*'v .81 0G
(u-6%,.01) (/2a9=1)
Emmmw%wmnwi Wl. 9t3seu] go qusmoy | (PH) SSBN | 0130y paads
B Sl Y [N X —2HE ) el
HONVIAVHTI DNISNOH WNANINIWN = D °'H° NX .m\w.mm
108, LHY 19
Qﬂv — -
/ - -5- : =
% p
on -~ /Aw/,,// C ]
24
; / | /@\/ o S (& |&
/[® 2\ w SN
b ! | / / &) = s o |z o O |
_ , A > | o - I I A P = > |= |z
.AVV ﬂ;ﬁ ! Aw (o)) - N N - | o)y O
\ \ /I , I .ﬂ,uD Wu mu .ﬂ,uD D.m .ﬂ,uD
5 \\\& //ﬂ oA SR |85
b NN\ N7 %, 5 .
= NN T = \ N
— AN Ilmm s I
S~ _ L _\\
—@— m
9°'9¢-9]
o (Bx9'99)
m 510°0- SO H'IW
K §19:0- 650 G BXON-2
» COH'IN 14
c
2 L] 7
c
2 Bl 5.8, 7€
(=] “0-
e 5°0- €
b

It

75



©
LR PO bETOWEENEL - Bl ™
W

- - 091 WMT@W

Z2aads ppy [08dg ppvY o0lley paadg

- - 021 SHRUE  THRUE e 8pOD 18POW
1600 1.°0 [ 00l XX — XX XXX-7 1 -HNDOH: —C)k
160°'0 120 08
160°0 120 0g
(au-6%,_01) (v/2a8=1)
Emmmw“wwmowi . 91338u] go juamoy | (D) SSBN jolaTy paads
A eIy v [N X —2HE EE TR0

o T9XEN-€
, ?
\““ = M IS8
P > O s |e N
\i‘@\\ > I8 Bl |z
NN\ ES T |z |9 |oo
=\ (\ 2. ma Mm Ho 8
& o e o o
TSXEN-8
o G'c9-8
m G'G G*9
o 6
3
= G*) 8
c
m gc G*'0d JI
a G*2g
H

DY
Y/

<+




£201QW9LT 6T > WL - B

R
_ _ 031 2oeds ppy [oadg ppy o11ey peadg w @
eel0 ﬁ = SHTE g 2T T 3p0) [8PONW
€61°0 ﬁ 001 XX — XX — XXX-=LJ-HNDH: -LCYE
€610 | 08
€610 | 06
(au-6%,_01) (v/2a8=1)
ﬁmmmw“wwmowf Wl B1348U[ JO juamop (B3) sse | 012y pasds
BESELY IR =t BB TR0
- ASS -
(98] I~ - (e8]
(@] a1 — I~
(€6}
N W N - —|—-—-—-—-— -1 < mu W N
o | oo 7Y o |0 |7 5
5 5 "ot i z V= 5
8 5 3 , ~ 8
il ST
(T2 TXG€9)
TIXEN-91
(]
o
©
[t
()]
c
.m G'g G'g
c
m ' €c G*'G
a 595
H

It

7



0
L2NQUTLT LT oL - Hx ™~

SR
vov*0 BE "] 03] J2aesds ppy [08dg ppvY 0l3ey poads w @
7Qv 0 g€ " | 021 JHIUE MBI F] 8p0o) [apoN
70y 0 BE'l [ 001 XX — XX - XXX-0Z-HNDH: N-C¥Y&
yov 0 8E"' ] 08
yOoy*0 8E "1 0G

(u-6%,_01) (7/2a9=1)
Emmmw“wwmowi Wl w13ieu] go qusmoy | (PX) SSTN 01Ty pasds
B Sl Y [ NAX—3HE ) el
|-|m.|u|x
1SS e o 1SS
[€e) o1 _no - [€e]
O o M S S Ol
o S j=y oy j[u hﬂ»w o
~N |~ NNt 11 - |= —
bo |7 o \od Sl S e
x|w|m.n.v.
LL mlw
2
Q2
=
" G 0l
5
2 ) 6
8 ‘] GJd
E
= G*1G
1

I




£201QW9LT 6T > WL - B

SR
020" ] 'S 091 J2aesds ppy [08dg ppvY olley paadg w @
020" 1'e 02| JHIUE MBI F] 8p0y [8POW
020" | 'z | ool XX — XX — XXX-GZ-HNODH: -C¥Y&
0,01 |2 08
0.0"1 |*'¢ 0G

(u-6%,.01) (7/2a9=1)

ﬁmmmw“wwwowf Wl B1348U[ JO Juamwop (B3) sse | 012y pasds

B Sl Y [N X —2HE ) e

§ =~k
Ilm@%
& SN = A
- o -
o | S P S e o
= Mo
SRRl R
o0 2% N ~ N oo
| B Ty
IImm%y
L5 i
(G*'GIXG'v9) B i
8BXVIN-91
2
o)
=
) G0l
5
» 9 G'8
m .
£ G*ed 9¢
° GGG
H

DY
Y/

<+

79



o
L20QWOLY 6T O WL - Bx  ©

LR

58'¢ G'v 09l Z2asdg ppy [08dg ppv o0lley paadg w @
582 Sy 0cl JHRIE  TETIE bt 8po) [8PON
SR Gy 001 XX — XX — XXX-ZE-HNHH: -C¥k
G8°'¢2 'y 08
G8"*¢J Gy 065

(au-6%,.01) (r/2a9=1)

Emmmw“wwmowi Wlu 813d48U] jO judmOp (BX) SSBN | o138y paadg

BEMBlY ) 1N -3k £ it

_ Wn-_
= = =
—_— 8 —_—
N o1 e EWV
N le |5 W o (o |
e e N I L e s i B - |5 |z
,ZQWUOM ~~
g
(G*02X5°G9) o
01 XGW-91
)
Ke]
©
=
()]
3
G S 21102 21
2 S'6 |5'92 z¢ )
|w G*'G9
+H

DY
Y/

<+




L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

o)

£201QW9LT 6T > WL - B

Z2aadg ppv
CHHIE
XX -

Joadg ppv oliey peaadg
PHBE e 8po) [8pOW

XX — XXX-0V-HNOH: N-C¥E

8c'6 L) 0391
8c'b L) 02l
8J°'6 L) 001
82'6 L) 08
8c'6 L) 06§
(u-6%4,.01) (/2a9=1)
iy Totom Duy | 1 sases g0 wwmon | (90 SSPN | 013 Pa2ds
SE¥ELY [N X —2HE ) QI
S-
\L
)
>
\L

(GZX9*99)

OTX9NW-91

e
\/ —
\L
TS |
o |9 |=
©
To7 |do
~ |2 s
P YR~
0C Too |o
B 3
a5

L ET o
Ve |17l
Ec BE | 8
6/

NO L0 3 0¥y
AR

B

@

81



£201QW9LT 6T > WL - B

82

NOLREEY
_ ~ 091 osds ppv gsdg ppy 0l3ey paads w
- - 02| ZHNE  IEINE R 8p0) [2pop
1600 70 | 00] XX — XX —XXX-V1-0S9H: N—-C¥k
160°'0 170 08
160°0 70 0G
(u-6%,.01) (v/2a9=1)
Emmmw“wwmowi Wl. 9i3seu] go jusmoy | (PH) SSTW | 0130y paadg
B Sl Y [ NAX—3HE ) el
AONVAVETD DONISNOH WNNININ = D °"H'IX
"8-grgl
vl
=1
ﬂ -
e |e .W .W e |e
ERERE T s [0
o | | e Q| |z
O e S =l N NS R
0o |00 W X m 0o |oo
2 |2 |2 8 |2
/ m ‘
gxG*E9 cN-2
GXEN-8 B
G2 |
()
m I O'H'W 2T DH'IN
-
» 9
5
o 2 v v'e
w .
£ G G'EC
(=] 0 .
e 7'8-568¢
1

I




£201QW9LT 6T > WL - B

SR
_ _ 091 0sdg ppy gsds ppy oOf3iey paadg w @
- - 021 JHPIE B e 8p0d [8PON
€610 JG°0 | 00l XX — XX —xXxXx-J1-0S9HH: -C¥ik
€610 2G'0 08
eoel*0 260 06
(m-6%,_01) (v/2a5=1)
sy Sorop gyy | le P1seul so susmop | (P SSENOLITY Pasds
B ey NI =t 1) 208
FONYIYETD ONISNOH WANININ = O °*H WX 002
‘0+
9°]
==h ‘
= __l D
s |3 |E g =3 |3
o |o |E+ — — |O |O
203 e |= o —-4-— N e
e e e _ w |od |
by by M~ s by by
2 2 |o @ 218
[} w | - o [}
n /
G*'9xXG*'g9
XEN- 2
GXEWN-91 e
Q
m | O'H'IN [*2 D°H'IW
s
» .9€ G*9
S
2 Gl s [ €
m L]
m 9 G397
D *0O- .
e v'0-GrgE
H

‘N

o)

83



<
L2NQWOLY 6T O WL - Bx  ©

SRR
vQr*0 180 091 o8dg ppy asdg ppy oOl1ey paadg w
70y ‘0 18'°0 | 02l SHRUG  THRNE R 8p0) 18PON
70v'0 18'0 | 00l XX — XX —XxX-02-0S9H: -CVE
70y 0 18°0 08
y0v *'0 18°0 06
(m-6%,_01) (v/2a5=1)
by Toronou | le Srsur a0 wusmoy | (P) SSU | 0110Y Poody
BESELY IR =t BB AEROL
AONVAVETO ONISNOH WANININ = O °H'WX NS
o 3 G 1
© &@
S W
S\ B S =
B i SN | d )
O s P le
“ =
Om N \ = = W = =
- _\ \ . \ S |o | T S
*&ﬁ-._iiﬁ i - 20E e D ?\LIL Sy
e _ do |do | Y < |eo
\ 3 / \ 3 12 |9 g | g
mm o [€e} . / o
N i 77 = /
SXEN-T ~-— p — |1
M
G'/XG'ED
i GXEN-91
gi9-0; Bsre
(] =
Y- G*T O'H'W ¢ D'H'IW
a S5
. G*J
m Ge' 1l
2 G'8 T [ €
nnw .
£ G'y 62
D *0O- .
e 70 GrEE
1

I




L
Kol
©
e
(2]
c
=
(2]
c
Q
£
(=]
H

‘N

<+

£201QW9LT 6T > WL - B

0L0"1 €1 0391
0,01 €1 Ocl
0.0 1 €1 001
0.0 €°1 08
0.0"1 €1 06§
(u-6%4,.01) (/2a9=1)
iy Toton Buy | 1 sraseur a0 sweman | (9% SN | 0130y Padds
SE¥ELY X =3 HEH!

JONVIVET) ONISNOH WNWINIW = D °"H'WX

AM\
2 i
. o T — ==
hS) ,
(@8] \ &
/ \
N\ & - S
S
0IXEN-7
28§ 6sr ¥
SER NI

o8dg ppv
SHHIE
X X

a8dg ppv
[ENIE
- XX

aliey psadg

HEH

—XXX-5c-0SOH:

g2
G'E
3
A
%&
(S q _
Ko e
@mo *m y
N 1
\ — |z | =5
/ o |9 = -— |CD
} ..UlUlomr - | =
2 ﬂu SIS I R O x%
) do |22 s S |00
Miae 1Nl
“ . 1
0IXG 7o
JXTIN-9]
ST D'H'W 2 0'H'I
DﬁH“
21 1| '8l £°'¢
S vE
S0- /¢

8poD

[8PON

N—CNE

NO L0 3 0¥y
AR

B

85



£2NQWOLT 62T > WL - B

(o]
[e0]

SRR
98’2 r6'e 091 o8dg ppy asdg ppy oOl1ey paadg w @
G8'¢ 62 Ocl SHTIE [§ {2011 T 3p0y [3PON
c8 2 v6'2 | 00 XX — XX —XXX-2E-0SHH: N-CY¥%
G8'? Ve 'c 08
G8' <2 ve'd 06
(m-6%,_01) (v/2a8=1)
Emmmw“wwmowi ulu ®1330u] jo juomoy | (PM)SSEN 0130y paads
HEHEY [ NAX—2HE EE TR0
BONYIYETD ONISNOH WANININ = O *H WX 1"8-9°€¢
%
&
JP
S :
A | -
_ N Q = —
QQ\Q &
QO\ S |e (S
| — — < < —
\ &~ - N N T.
, SR ERER S ==
- A=
\ D,UD D,UD S- S Dm
: B o .y .
o 2 B | ool g
# s | .
B i SIXT - =
S10°0- i
2ig-0+ 65 & =3 7 IXG*Ggo
S - BXGN-9
[ ' C
3 Sl ST D'H'W 2 OH'I
o 71|
m =
2 Gl AARERE
c
nm.. J A%
[=) -
e e vy
H

I




£201QW9LT 6T > WL - B

SRR
Bc'6 'S 091 o8dg ppy asdg ppy oOl1ey paadg w
8c'6 'S 021 SHHIE [ENIE e 8poYd E@Hoz
826 G 001 XX — XX —XXX-0¥7-0S9HH: Ok
B2'6b |G 08
8J'b e 0G
(au-6%,_01) (v/2a8=1)
ﬁmmmw“wwmnwf Wl B1348U[ JO juamop (B3) sse | 013y pasds
B Sl Y [N X —2HE ) el
AONVIYETD ONISNOH WANININ = D °'H WX 1"0-) 62
,p/z 9°'G
5
— R p=rr)
> >~ N q]
%%\Q o — N ==V
QO\ / = ]
/e ! SN pal DA z | |=
\ =~ W - ~N —~
‘_ \ O ail ouu s ~ ouu o o
¢ : \ S R e vl P
E o |do [ & o9 |oo
. / . . O s
5 \a\ //H : 5 (8 S|
E+ \ A a & 9 \ -
oo // W 4 —
== =< 11x9'9¢ =
02ZXSN-1 _ OIXSN-31
S18:; 657 ¢
h—v cmm~\N
w S O°'H'IW d O°H'IN
[ 5o
@ < 21
o
W 81 B2 v
Q
£ o 1G
(=) .
e '8 €5
b

It

87



©
LRNPWOLUY ST > WEE - HEx  ©

ORI
_ 091 o8ds ppy aadg ppy oliey psasdg w @
- 0cl HTE I T et 8apo) [apop
160°0 990 001 XX — XX —XXX-V[-TNHOH: J-C)E
160°'0 9390 08
1600 9390 0g
(m-6%4.01) (¥/2a9=1)
sin Soson oy | ele T1neeuD s swemoy | (B ST OLRTY Pavds
ke [N X =2 EL] e

>
- =S- SN
~ w ~
(@8] (@D} H I~
> e | s >
REESN mnwum b
.D .D = o
2 5 o |8
A 0
o
G 1 IXG €
GXEN-8
e G'E0-8
m .09
» 5 I
6
2 G'z | 8 7
w .
2 Gl G'02  GI
e 605
H4

DY
Y/

o)




£201QW9LT 6T > WL - B

LR
~ ~ 091 0sdg ppy gsds ppy Of3iey paadg w @
eel'0 ve'0 Ocl SHTIE [§ {2011 prRtch 8p0) [8POIN
€610 v6'0 | 00 XX — XX —XXX-LT-rN9OH: -CMGk
€Eel 0 760 08
€el 0 ye*0 06§
(6% ,.01) (v/2a9=1)
S1xy 090N oy | wle B1348U1 so juamop (Br) sse | o13ey paads
BEHmlOY [ NZX—2HE EE e
_ K
SN SN m
o8] ~
o o1
o> | | A
3 o |S —_——— @
| ~ | N
o al e8]
===l R
s b M,D
2IxXG gD
9XEN-9]
= 21
S .9€
» 9]
c
2 € 01
c
m G*'8 91 €2 L1
5 55
H

It

89



o
L20QWOLY bET O WL - Hix O

ORI
yOor 0 8E '] 091 5845 ppy 98dg ppy o13vy pasds w @
70v*0 8e " | 021 SHINE  THRNE T 8p0) 18PON
707 ‘0 BE " | 00| XX — XX —XXX=0J-rNHH: 0OV
yOor 0 8E ] 08
y0v 0 8¢ ] 0g

(m-6%4.01) (¥/2a9=1)
Emmmw“wwmowi Wlu 813d48U] jO judmOp (BX) SSBN | o138y paadg
=i AT [N X—2HE EE 0
T
T |L|_= gh
=
= ASS =
(€] (@) «
O (@S] L (@]
0 S 0 joa
o e S o
o o o 8
ul o1l ~ (&)} 8
e S
l:_l.é B b oﬂ
="t ,

591 G eg-g1  °Ug
02

6 |G°L1 G2 12
G'E9

L
Kol
©
e
(2]
c
L=
(2]
c
Q
£
(=]
H

‘N

<+




£201QW9LT 6T > WL - B

SRR
0.0°"1 ' 091 oedg ppy asdg ppy oOl1ey paadg w
00" 1 12 02| SHRUE  THROE M 8p0) [8PON
0,01 e 001 XX — XX —XXX-Cg-INHH: N-CYk
0/0°1 12 08
0,01 12 05
(m-6%,_01) (v/2a5=1)
iy Totom Duy | 1 sases g0 wwmon | (90 SSPN | 013 Pa2ds
BESELY [N X—2HE BB T
01 XGN
==t S -
Q — -
] i ‘D oa &,@
- o4 |
= | s s s | X
— S]] — /
o | o al \ /
joa \
w © |~ 1 |!|I|ﬁuﬁmx w — - %:I:I@Y
|k SN i =
ol o S ; '
‘ == 5 ﬁ@ﬁ _ 2 -
i — 0
L5 d o)} @/ _ \Q
= bo /Iw\\\
G'CIXG 1o = |
JXVYIN-91] €0°0- g G'yvo-21
zm.NN = S—— 0
3 G'22 5
K e
» GJ
c
8 S g0l
c
m G*g8 |§*02 92 92
e G2l
H4

‘N

o)

91



L2 PUTLT LT ML - HPX

92

NQLRG ol
98'¢ vty 031 208ds ppvy oadg ppy o0liey psadg w
G8°¢S 4 0cl HDNE  THRNE e 9p0) [3PON
82 vy 00] XX — XX —XXX-ZE-CNHH: -C¥E
G8*< vy 08
G8*'¢Jd vy 0¢g
(qu-63,.01) (r/2a9=1)
ﬂmmww“wwyowﬁ «lu B13IBU] jO Juawop (B%) SsoN | o128y paadg
BEHY [N7X =238 EE 10

S'v8

= =
= N
no —~
g e
o | N
: . |5 N
~ .
- 0
_ q5b 0
===t} bo
() =
o) §*'JdJd
=
" G2
S
s S 2
=
g G'6 [5'98 26 92
E
4

DY
Y/

<+




92
Q2
©
s
(7]
=
9
(7]
=
Q
E
[a)
H

‘N

<+

£201QW9LT 6T > WL - B

Bc'6 €' 0391
8J'b £l Ocl
Bc'6 €'l 001
B2'6b S 08
8c'6 £l 06§
(u-6%4,.01) (/2a9=1)
iy Tolom Dus | 1 sses g0 wusmen | (90 SSPN | 013 Paods
SEHELY [N X —2HE ) HEH!

o8ds ppy
SHHIE
X X

070°0- )y 0L 19

0r1¢
S€0°0- Jy 0019

a8dg ppv
[ENIE
X X

ariey pasadg
HE 8po) [8pPONW

~XXX-0¥V-rNoOH: N-C¥%

NO L0 3 0¥y
AR

B

@

93



£201QW9LT 6T > WL - B

94

SRR
_ _ 091 0sdg ppy 9eds ppy Of(3iey paadg w
- - 02| SHRUE  THDNE R 9p0) [3PON
160°0 Gr'0 | 00l XX — XX —XXX-VI-HSOH: -C¥E
160°0 Gy ' 0 08
160'0 Gy ' 0 0S
(au-6%,_01) (v/2a8=1)
1ty torompqs | efe Tiaeur so vummoy | (9¥) SSON | 01E0d Poods
HEHEY IR =t BB a0 -
*07 02
FJONVHIYITI DNISNOH WAWINIW = O °*H WX G ol EGERGE
02 01
G2
[sryi| EN-€
SIS |E ™ a =R
o O | M: — ___& | T o
Z1Z e | | QT
[ ASS
bo do B 1207 . R [
J 1 = = %
= . el
~ 0 A ~ O
T T =
—~ ~ RN
o IS o |bo
= o 518
@ @ |[—
()] _
3 IXEN-T [0 HW IR
[
" g
c
2 LTl T rte
S
2 G'ee ,.0, 91
[a) ~0- c-
e 0-6'2s
H

DY
Y/

I




£201QW9LT 6T > WL - B

8-G69g

SR
_ _ 091 0sdg ppy 9sds ppy Of(3iey paadg w
eel'0 £9°0 0cl JHIIE B el 8p0) 13PON
€610 €9°0 | o0l X X XX —XXX-)JT-HSOH: N-C¥%
€610 £€9'0 08
eoel*0 £9°'0 06
(m-6%,_01) (v/2a5=1)
sy Sorop guy | «le ®19eul so susmop | (T SSUM ) OUITY Padds
B ey [ N7 X —2HE 1) 208
AONVIVATO DONISNOH WNWINIWN = 0 °"H'INX g'el froxstle
oo Ol o e
— nND
@] o1
T o
= ENEREN
g oo |do
= 5|8
=
o |> |Z k 1S
o |0 |- o
o | |- (S8 S | |xT
~ OO | N T T T T N —~
I | —~ ~ |e +
e W _ Ih 2 |75
8 o H% N 3
S (& | : Y
> o WWWM. 4
— T f
~ |~ ||| =
m,um,u D.m 1SN
G'9XG'EP 28| 8 2 EN-€
[ 9€ SXEN-V
2 T 0 H'I [*20"H'IW
s
» G*'9
S
2 G 9] 5
c
g 1~ G*92 ,.8, 91
=
H

‘N

o)

95



£2NQWOLT 62T > WL - B

96

LR
vay'o 68'0 091 o8dg ppy dsdg ppy oOliey pasads w
70y 'O 680 02! SHROE  IHRNE TR 8p0y [ 3POW
70V 0 68°0 | 00] XX — XX —XXX-0Z-HSHH: J—-CVk
yOor 0 68°'0 08
7070 680 0g
(au-6%,.01) (r/2a9=1)
Emmmw%wmnwi Wlu ®1330u] jo juomoy | (PM)SSEN | 0138y pasds
=i AT [N X—2HE EE T 0 1'0% 0<
G'21 ['0F 61
HONVAVATD HNISNOH WNANININ = 2 "H'INX
27 01

o |le |Z e
o |~ |- S
O o | - |O
o0 | " - AS N ju
o o |w — - 1—-—1-—1 w | |~
| | no N +
oo |0o |a LSS oo
w o |o ~ o
& |o |W o8
S |© N Y S |
w [ M N W
o |— — O
— T - (3
o |~ i | ~ |
|+ + + |+
o0 |eP S oL 9P
oo o N o |oo
oo N — no (o]
~O — — |~©
al
2
Q2 G*] O'H'IN 2 0'H'IN
S 8XEN-T
» G/l
5
P '8 G*'21 £
c
2 ' 62 ,.0,6'6
a 9-Gr g

DY
Y/

<+




£2NQWOLT 62T > WL - B

SRR
020" ] vyl 091 o8dg ppy asdg ppy oOl1ey paadg w
0201 ry ] 02! SHRUG  THRNE R 8p0) [2POW
020" | vy 1 | 00l XX — XX —XXX-GJ-HSOH: N—-C)k
0,0°] Tl 08
0.0'] Tl 0S
(au-6%,_01) (v/2a8=1)
cie SoronSyy | els s13asul g0 susuo | (PY)SSOW ) 0130 Paddg 1'0%G'22
BESELY [N X—2HE BB AEROL
€7 107 02
FONYEVET) ONISNOH WAWINIA = O *H*IX e g c°g
==
=
<
= o |F E=% Clo |
(@] Q 0
P ez [ge2] | o1 o 1= 13
2 o o T-— -1 — F—r = |~ |2
do 20 |& e
5 18 1S —_ 3 |5
g B |@ i & |3
S S © iSS < S
N w S) ™) w ~
O | o) E—— de] (o8] O
> |2 |5 : T3 >
o0 |do |od o ob |oo |03
oo o o N o |o oo
B3 | B © P& &=
[@]]
o
s Gl D'H'W 2 DH'W
- =
» 01
s
G 21 =g c°c
2 Gl e .8, 01
D *N- .
e 1"0- GGG
H

‘N

<+

97



0
LENPWOKT LBV WZENE - . O

R
98'¢ e 091 oadg ppy Jadg ppy oiiey paadg w
68'2 'E 02| SHRUE  IEHIE TR 8p0) [8PON
G823 g 001 XX — XX —XXX-ZE-HSOH: N—-C)k
G8'2 S 08
G8' 2 S 0S
(u-6%,.01) (V/2a9=1)
mhmmmw“wwﬂnwz& wly B134BUL JO JUBWON (B%) SSTN | 0138y paads ﬁ.OH m.mm
BESELY IR =t BB AEROL /
€l ['07F 62
AONVYYETD ONISNOH WANINIW = O °'H'IX e =
.
= |
=
= i i = =
S le X g2 |o]'0€] | ol s |- |2
STRESN N — -1 -1 -1 1 S|
IL - 6
o ol S |od
% — g — m w
= © | 1 S |e
5 3 == | Sk
—b juny g jun o
—~ —~ EEE ~ |~
oo o0 s o5 |So
%w m W o o
(]
= ST O'H'IW S O'H'IN
il G Go-2]
» Il
3
@ Gl 7 Eg g'c
g G 11 2y g3, 21
e 0-G*Gg
He

‘N

o)




£201QW9LT 6T > WL - B

NOLREEY
82’6 r's 091 osdg ppy 9eds ppy Of(3iey paadg w
826 V'S 02! JHIIE  IETOE R °p00 [ap0N
826 v's | ool XX - XX —-XXX-0OV-HSHH: -C¥ik
8J'6 v'G 08
8J'6 VG 06
(u-6%,.01) (v/2a9=1)
Emmww“wwmnwi ul. 9i3seu] go jusmoy | (PH) SSBN | 0130y paads 1'0F 8¢
BEHmlOY [NOX—3HE EE e
21 | *0F 7€
HINVAVHTI HNISNOH WNWININ = O *H'INX ] 7
Lw?
> o |z y = |2 |2
~ W | ] N
o | | o 2€ | g~ |2l s |- 22
0 =y (@] O J I | A | I | ) ) T >
o 2 e ~N [N
do |do | S o8 |do
) Pt b
o o O o
s & |9 il S IS
e |e o N o |e |e
o a1 ~ - il ~ o (o
O |© [o3) o |o o
[ > T L T o .
o |[© —J -+ — i ~ |~ o
55 [bo |03 o o3 [bo |05
oo (o o ~ o |o oo
o R o ~ o8 S
[
= 2 0H'I 2 0'H'W -0¢
o L
S
i 81 B2 v
c
nm.. Gl 16 g8, €l
(=) .
e "8-64
H

It

99



BFFﬁéb'tj::/_ l‘ | Inquiry Sheet

RN kiR RESREIE /

Things to check when requesting a reducer with motor.
ZkFER / Date :

* TREDFEEE TEKTEE L,

Please let us have the following information. 244 / Company

E8E 4 / Dept.

K4 / Name

TEL

FAX

E-mail

OBV EHLEDHH
Subject of your inquiry
C PGS ot - iR 3T / Under consideration  ( )
Inquiry Product - fEAH /Inuse ( )
[ Lidko
Model
ol ( ) &/ Unit
Number of units
PY=TS : Ez;?i{ﬁﬁ\/ For in-h(.)use eq.uipment' ( )
Applications - EBHAAHA / Equipment integration ( )
-« Z0fth / Others ( )

BHVWVEDLEAR

Inquiry details




Ské

https://skg2016.com

SKG#A&=1t

A1 Ti5 T942-0231 i8R LBH THEF 1706 Fih12
TEL : 025-530-7338 FAX : 025-539-1238
E-mail  info@skg2016.com

SKG Inc.

Head Office ./ 1706-12 Shimo-yoshino, Joetsu City, Niigata, 942-0231
Contact .~ TEL : +81-25-530-7338 FAX : +81-25-539-1238
E-mail  info@skg2016.com

Copyright SKG Inc. All rights reserved.

CAT.241025 (51T 2024E108258)



